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1. Calculate number of neutrons present in 12 x 10* atoms of oxygen

(80'): (Given: N4 = 6 x 10%)

° Watch Video Solution

2. If mass of one atom is 3.32 x 10~ 23g, then calculate number of

nucleons (neutrons and protons) present in 2 atoms of the element:

° Watch Video Solution
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3. Calculate number of electron presentin 9.5 g ofPOi_:

° Watch Video Solution

4. What is the number of moles of O-atoms in 126 amu of HNO; ?

° Watch Video Solution

5.What is the charge of 96 amu of s*~ ?

° Watch Video Solution

6. A sample of sodium has a mass of 46g. What is the mass of the same

number of calcium atoms as sodium atoms present in given sample ?

° Watch Video Solution
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7. The total number of neutrons present in 54m LH,0(l) are :

° Watch Video Solution

8. Total number of electrons present in 48gmG?™ are:

° Watch Video Solution

9. Cisplation , an anticancer drug , has the molecular formula
Pt(NHj),Cl,. What is the mass (in gram) of one molecule ?

(Atomic masses : Pt =195 H = 1.0, N = 14, Cl = 35.5)

° Watch Video Solution

10. Aspirin has the formula Cy HgO4. How many atoms of oxygen are the

there in a table weight 360 mg ?

° Watch Video Solution
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11. 20 g of ideal gas contans only atoms of S and O occupies 5.6 L at 1 atm

ans 273 K. What is the molecular mass of gas ?

° Watch Video Solution

12. A sample of ammonium phosphate, (NH,); POy, contains 6 moles of

hydrogen atoms. The number of moles of oxygen atoms in the sample is :

° Watch Video Solution

13. Total number of moles of oxygen atoms in 3 litre O3(g) at

27°C and 8.21 atm are:

° Watch Video Solution

14.3.011 x 10°% atoms of an element weighs 1.15gm. The atomic mass of

the element is :

| e |
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I &J Watch Video Solution

15. One atom of an element z weighs 6.643 x 10~ 23g. Number of moles
of atoms in its 20kg is :

A4

B.40

C.100

D. 500

Answer: D

o Watch Video Solution

16. Mass of one atom of the element A is 3.9854 x 10~ ?3g. How many

atoms are contained in 1g of the element A ?

o Watch Video Solution
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17. Which of the following contains the largest mass of hydrogen atoms ?
A) 5 mole C2H204 B) 1.1 Mole C3H803 C) 1.5 Mole C6H806 D) 4 Mole

C2H402

o Watch Video Solution

18. Which has minnimum number of oxygen atom ?

A. 10mL H20(l) [density of water =1 gmL-1

B. 0.1 mol V205

C.12g 03

D. 12.044 * 10”23 Molecules of CO2

° Watch Video Solution
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19. Rearrange the following (I to IV) in the order of increasing masses : A)
0.5 Mole of 03 B) 0.5g of oxygen C) 3.011 * 10"23 Molecules of 02 D) 5.6

Litres of CO2 at STP

° Watch Video Solution

20. If the volume of a drop of water is 0.0018m L then the number of

water molecules present in a drop of water at room temperature is :

° Watch Video Solution

21. Common salt obtained from sea-water contains 8.775 % NaCl by

mass. The number of formula units of NaCl present in 25¢ of this salt is :

° Watch Video Solution
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22. The number of hydrogen atoms present in 25.6g of sucrose

(C13H35011) which has a molar mass of 342.3¢g is :

° Watch Video Solution

23. Caffiene has a molecular mass of 194. If it contains 28.9 % by mass of

nitrogen, number of atoms of nitrogen in one molecule of caffeine is :

° Watch Video Solution

24. The density of water is 1g/mL. Water is the volume occupied by 1

molecule of water ?

° Watch Video Solution

25. A 25.0mm x 40.0mm piece of gold foil is 0.25mm thick. The density

of gold is 19.32%m3. How many gold atoms are in the sheet ? (Atomic
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weight : Au = 197.0)

° Watch Video Solution

26. If average molecular mass of air is 29, then assuming N, and O, gases

are there, which option are correct regarding composition of are?
(i)
75 % by mass of N, (#1)75 % by moles Nj

A.only i) is correct

B. only ii) is correct

C. both ii) and iii) are correct

D. both i) and ii) are correct

° Watch Video Solution
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27. Density of dry air containing ony N, and O, is 1.15% at 740mm of

Hg and 300K.What is % composition of Ny by mass in the air ?

° Watch Video Solution

28. A gaseous mixture of Hy, and CO, gases contains 66 mass % of CO,.

The vapour density of the mixture is :

° Watch Video Solution

29. The vapour density of a maxture containing NO; and N,O, is 27.6.

The mole fraction of NyOy, in the mixture is :

° Watch Video Solution

30. Average atomic mass of magnesium is 24.31amu. This magnesium is

composed of 79 mole % of 24mg and remaining 21 mole % of
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25mg and 25mg. Calculate mole % of 26myg.

o Watch Video Solution

31. Indium (atomic mass = 114.82) has two naturally occurring isotopes,
the predominant one from has isotopic mass 114.9041 and abundance of

95.72 % . What is the mass for the other isotope ?

o Watch Video Solution

32. Calculate density of a gaseous mixture which consist of 3.01 x 10%*
molecules of N, and 32g of O, gas at 3 atm pressure and 860K

L
temperature (Given : R = 5 atm EO <.K)

o Watch Video Solution

33. A mixture of O, and gas "Y" (mol. Mass 80) in the moe ratio a: b has a

mean molecular mass 40. What would be mean molecular mass , if the


https://dl.doubtnut.com/l/_az3vaaV3G0EC
https://dl.doubtnut.com/l/_o7G56rsp3T3b
https://dl.doubtnut.com/l/_HLMDRb7DX0Rc
https://dl.doubtnut.com/l/_Nlv5Au71oKv8

gases are mixed in the ratio b: a under identical conditions? ( Assume

that gases are non-reacting ):

o Watch Video Solution

34. If water sample are taken from sea, rivers or lake, they will be found to
contain hydrogen and oxygen in the approximate ratio of 1:8. This

indicates the law of :

o Watch Video Solution

35. Hydrogen and oxygen combine to from HyOy and H50O containing

5.93 % and 11.2 % hydrogen respectively . The data illustrates :

o Watch Video Solution

36. A sample of calcuium carbonate (CaCOs) has the following

percentage composition: Ca =40% ,C = 12% ,0 = 48 % If the law
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of constant proportions is true. Then the weight of calcium in 4g of a

sample of calcium carbonate obtained from another source will be

o Watch Video Solution

37. All the substance listed below are fertilizers that contribute nitrogen
to the soil. Which of these is the richest source of nitrogen on a mass

percentage basis ? a) Urea b) Ammonia

o Watch Video Solution

38. One mole of element X has 0.444 times the mass of one mole of
element Y. One atom of element X has 2.96 times the mass of one atom of

12-. What is the atomic mass of y ?°

o Watch Video Solution
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39. A given sample of pure compound contains 9.81g of Zn, 1.8 x 10?3
atoms of chromium, and 0.60 mol of oxygen atoms. What is the simplest

formula?

° Watch Video Solution

40. The formula of an acid is H X O,. The mass of 0.0242 moles of the acid

is 1.657g. What is the atomic mass of X ?

° Watch Video Solution

41. What is the emprical formula of vanadium oxide , if 2.74g of the metal

oxide contains 1.53g of metal ?

° Watch Video Solution



https://dl.doubtnut.com/l/_msH50utEDnFS
https://dl.doubtnut.com/l/_TXv3fXFAuvs8
https://dl.doubtnut.com/l/_gd5oNysVDI2D

42. Determine the empirical fromula of kelvar, used in making bullet proof

vests, is 70.6 % C, 4.2 % H,11.8 % N and 13.4 % O:

A. C,HsNO,

B. Cy Hs Ny O

. C,HyNO

D. C, H; NO

° Watch Video Solution

43. The hydrate salt Na;COs. x H,O undergoes 63 % loss in mass on

heating and becomes anhydrous. The value of z is :

° Watch Video Solution
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44.A 6.85g sample of the hydratedSr(OH),. H5O is dried in an oven to
given 3.13g of anhydrous sr(OH),. What is the value of 2?7 (Atomic

masses : Sr = 87.60. O = 16.0, H = 1.0)

° Watch Video Solution

45. What percentage of oxygen is present in the compound

Ca003.300,3(PO4)2 ?

° Watch Video Solution

46. Deildrin, an insecticide, contains C, H, Cl and O. Combustion of
29.72mg of dieldrin gave 41.21mgCQO, and 5.63mg of H,O . In a
separate analysis 25.31mg of dieldein was converted into 57.13mg Ag Cl.

What is the empirical formula of diedrin ?

° Watch Video Solution
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47. A gaseous compound is composed of 85.7% by mass carbon and
14.3 % by mass hydrogen. Its density is 2.28 g/litre at 300K and 1.0 atm

pressure. Determine the molecular formula of the compound.

° Watch Video Solution

48. Complete combustion of 0.858g of compound X given 2.64g of

COy and 1.26 gofH (2)0O. The lowest molecular mass X can have:

° Watch Video Solution

49. The sulphate of a metal M contains 9.87 % of M, This sulphate is

isomorphous with ZnS0,4.7TH,0. The atomic weight of M is

° Watch Video Solution

50. In an organic compound of molar mass 108gmmol 'C, H and N

atoms are presents in 9: 1: 3.5 by mass. Molecular formula can be
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A 06H8N2

B. C7H10N

C. CsHgNs

D. C4H18N3

° Watch Video Solution

51. On analysis, a certain compound was found to contain 254g of iodine
(at.mass 127) and 80g oxygen (at.mass 16). What is the formula of the

compound ?

° Watch Video Solution

52. An element A is teravalent and another element B is divalent. The

formula of the compound formed from these elements will be :

° Watch Video Solution
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53. A compound used in making nylon, contains 43.8 % oxygen. There are
four oxygen atoms per molecule. What is the molecular mass of
compound ?

A. 36

B. 116

C. 292

D. 146

o Watch Video Solution

54. Suppose two elements X and Y combine to form two compound

XY, and X,Y3; weigh 85¢g. The atomic masses of X and Y are respectively

o Watch Video Solution
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55. 449 of a sample on complete combustion given 88gC' O, and 36g of

H,0. The molecular formula of the compound may be :

° Watch Video Solution

56. 40 miligram diatomic volatile substance (X5) is converted to vapour
that displaced 4.92m L of air at 1atm and 300k. Atomic mass of element X

is nearly :

° Watch Video Solution

57. Two elements X ( atomic weight = 75) and Y ( atomic weight = 16)
combine to give a compound having 75.8 % X.' The formula of the

compound is

° Watch Video Solution
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58. A sample of phosphorus that weighs 12.4g exerts a pressure 8 atm in
a 0.821 litre closed vesel at 527°C. The molecular formula of the

phosphorus vapour is :

° Watch Video Solution

59. Manganese forms non-stoichiometric oxides having the gereral
formula formula MnO,. The value of z for the compound that analyzed

64 % by mass mn :

° Watch Video Solution

60. 1. 44 gram if titanium (7%) reacted with excess of O, and produce z

gram of non — stoichiometric compound 7% 440. The value of z is :

° Watch Video Solution
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61. How many moles of iron can be made from Fe203 by the use of 16mol

of CO in the following reaction: Fe203 + 3CO to form 2Fe + 3C0O2

° Watch Video Solution

62. A solution is prepared by dissolving 18.25g of NaOH in distilled water

to give 200ml of solution. calculate the molarity of solution.

° Watch Video Solution

63. 2.0g of a sample contains mixture of SiOy and Fe;O3. On very
strong heating, it leaves a residue weighing 1.96g. The reaction
responsible for loss of mass is given below.
Fey03(8) — Fezo4(s) + Os(s), (unbalance equation) what is the

percentage by mass of Si0, in original sample ?

° Watch Video Solution
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64. What volume of air at 1 atm and 273K containing 21 % of oxygen by
volume is required to completely burn sulphur (Sg) present in 200g of
sample , which contains 20 % inert material which does not burn.

1
Sulphur burns according to the reaction gSg(S) + O3(g9) — SO5(9)

o Watch Video Solution

65. For the reaction, 2F'e(NO3) 4+ 3Na;CO — Fey(CO3); + 6NaNO3
initially 2.5 mole of Fe(NO3), and 3.6 mole of NayCOj are taken. If 6.3

mole of NaNQOj is obtained then % yield of given reaction is :

o Watch Video Solution

66. How many of P, can be produced by reaction of 0.10 moles
Cas(POy)4F, 0.36 moles Si0O, and 0.90 moles C according to the
following reaction ?

40&5(PO4)3F + 188102 + 30C — 3P, + 2CCLF2 + 1800,5103 + 30CO

o Watch Video Solution
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67. Calculate the mass of 2.6 gram atoms of sulphur.

° Watch Video Solution

68. Calculate the weight of iron which will be converted into its oxide

(Fe304) by the action of 14.4g of steam on it.

° Watch Video Solution

69. What mass of calcium oxide will be obtained by heating 3 mol of

CaCO3?

° Watch Video Solution

70. How many moles of nitrogen are needed to produce 82moles of

ammonia by reaction with hydrogen?

e l
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| ¥ Vvatch Video Solution )

71.9 moles of "D" and 14 moles of E are allowed to react in a closed vessel
according to given reactions. Calculate number of moles of B formed in
the end of reaction, if 4 moles of G are present in reaction vessel.
(percentage yield of reaction is mentioned in the reaction) Step -1

3D + 4E80 % — 5C + A Step-23C + 5G50% — 6B + F

o Watch Video Solution

72. The chief ore of Zn is the sulphide ZnS. The ore is concentrated by
froth floatation process and then heated in air to convert ZnS to ZnO.
2ZnS + 30380 % — 2Zn0O + 250. ZnO+H 2SO 4 100% rarr Zn
SO 4+H 20 and 2ZnSO 4+2H 20 80% rarr 2Zn+2Hn+2H 2SO 4+0 2
. Thevmberofmo < sofZnSrequiredf or Huc € g2mo < sofzZn" will

be :

o Watch Video Solution
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73. Silver oxide (Ag;0O) decomposes at temperature 300°C yielding
matellic silver and oxygen gas. A 1.60g sample of impure silver oxide
yields 0.104g of oxygen gas. What is the per cent by mass of the silver

oxide in the sample ?

o Watch Video Solution

74. Comprehension # 5

342g of 20 % by mass of Ba(OH), solution (sp. gr.0.57) is reacted with
1200m L of 2M H NQO; according to given balanced reaction :

Ba(OH), +2HNO;3; — Ba(NOs), + 2H,0

Find the molarity of the ion in resulting solution by which nature of the

above solution is identified, is

o Watch Video Solution

75.100m L of H5SO, solution having molarity 1M and density 1.5g/mL

is mixed with 400m L of water. Calculate final molarity of Hy SO, solution,
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if final density is 1.25g /mL?

° Watch Video Solution

76. What volume of HCT solution of density 1.2%777,3 and containing
36.5 % by mass HCI, must be allowed to react wtih zinc (Zn) in order

to liberate 4.0g of hydrogen ?

° Watch Video Solution

77. An ideal gaseou smixture of enthance (CyHg) and enthene (CyHy)
occupies 28 litre at 1 atm and 273 K. The mixture reacts completely with
128 g Oy to produce CO; and H,0 . Mole fraction at CyHg in the

misture is ,

° Watch Video Solution
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78. The density of apure substance 'A' whose atoms are in cubic close pack
arragement is 1g/cc. If the all the tetrahedral voids are occupied by 'B'
atom , What is the density of resulting solid in g/cc[ "Atomic mass" =

(A) = 30g/mol and atomic mass (B) = 50g / mol]

o Watch Video Solution

79. The density of a 56.0 % by mass aqueous solution of 1-propanol
(CH3;CH,CH,0OH) is 0.8975%m3. What is the mole fraction of the 1-

propanol ?

o Watch Video Solution

80. What is the molartiy of SOi_ ion in aqueous solution that contain
34.2 ppm of AIL,(S0,),? (Assume complete dissociation and density of

solution 11L)
m

A.3x10 %
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B.2x10 ¢

c.1074

D. None

° Watch Video Solution

81. An aqueous solution of ethanol has density 1.025 g/mL and it is 2 M.

What is the molality of this solution ?

° Watch Video Solution

82. 0.2 mole of HC!l and 0.2 mole of barium chloride were dissolved in

water to produce a 500m L solution. The molarity of the Cl — ions is :

° Watch Video Solution
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83. Calculate the mass of anhyrous HCI in 10mL of concentrated HCI

(density = 1.2%L) solution having 37 % HCI by mass is :

° Watch Video Solution

84. Calculate the molality of 1L solution of 80 % H2SO4(%) given that

the density of the solution is 1.80gmL .

° Watch Video Solution

85. Fluoxymesterone, CigHy9F'O3, is an anabolic steroid. A 500 mL
solution is prepared by dissolving 10.0mg of the steoid in water. 10.0mL
portion of this solution is diluted to a final volume of 1.00L. what is the

resulting molarity ?

° Watch Video Solution
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86. The 25m L of a 0.15M solution of lead nitrate, Pb(NOs), reacts with
all of the aluminium sulphate, Al5(SO 4) 3, present € 20 mL
ofasolution. WisthemolarconcentrationoftheAl 2(SO 4) 3 +

3Pb(NO 3) 2(aq)+Al _2(SO _4) 3(aq)rarr3PbSO 4(s)+2AI(NO 3) 3(aq)’

° Watch Video Solution

87. Concentrated HNQO; is 63 % HNO3 by mass and has a density of
1.4g/mL. How many millilitres of this solution are required to prepare

250mL of a 1.20M HNOs solution ?

° Watch Video Solution

88. 50mL of 20.8% (w/V) BaClI, (aq) and 100mL of 9.8 % mL(w/V)
H,504(aq) solutions are mixed. Molarity of Cl~ ion in the resulting

solution is : (At mass of Ba = 137)

° Watch Video Solution



https://dl.doubtnut.com/l/_XGiVuCwmWizC
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89. 100mL of 10 % NaOH(%) is added to 100mL of 10 % HC’I(%).

The nature of resultant solution is :

° Watch Video Solution

90. How many millilitres of 0.1M H,50, must be added to 50mL of
0.1MNaOH to give a solution that has a concentration of 0.05M in

H,50,47?

° Watch Video Solution

91. 1M HCI and 2MHC!I are mixed in volume ratio 4:1. What is the final

molarity of HCl solution?

° Watch Video Solution



https://dl.doubtnut.com/l/_dcJ4pR9vvEz9
https://dl.doubtnut.com/l/_L4WZus25l26O
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92. Three solutions X,Y,Z of HCl are mixed to produce 100mL of 0.IM
solution . The molarities of X,Y and Z are 0.7M, 0.12M and 0.15M

respectively. What respective volumes of X,Y and Z should be mixed?

o Watch Video Solution

93. The impure 6g of NaCl is dissolved in water and then treated with
excess of silver nitrate solution. The mass of p[recipitate of silver chloride

is found to be 14g. The % purity of NaCl solution would be:

o Watch Video Solution

94. Decreasing order (first having highest and then other following it) of
mass of pure NaOH in each of the aqueous solution

(P) 50 gm of 40 % (w /w) NaOH

(Q) 50 gm of 50 % (w / V') NaOH [dgo,. = 1.2gm /ml]

(R) 50 gm of 20 M NaOH [dgo,. = lgm /ml|

I o Watch Video Solution
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https://dl.doubtnut.com/l/_b9qIsvf660tT
https://dl.doubtnut.com/l/_zJQeeHAgFZbl

95.0.607g of silver salt of tribasic organic acid was quantitatively reduced

to 0.37g of pure Ag. What is the mol. Wt. of the acid ?

o Watch Video Solution

96. An impure sample of sodium oxalate (NayC50,) weighing 0.20g is
dissolved in aqueous solution of H,S0, and solution is titrated at 70 C
requiring 45mL of 0.02M KMnQO, solution. The end point is overrun,
and back titration in carried out with 10mL of 0.1M oxalic acid solution.

Find the % purity of NasC50y, in sample :

o Watch Video Solution

97. 20mL of a mixture of CO and H, were mixed excess of O, and
exploded & cooled. There was a volume contraction of 18mL. All volume

measurements corresponds to room temperature (27°C) and one


https://dl.doubtnut.com/l/_zJQeeHAgFZbl
https://dl.doubtnut.com/l/_WYjebwHy783h
https://dl.doubtnut.com/l/_s5BMCfCBImmd
https://dl.doubtnut.com/l/_0ZnKkgju2SaG

atmospheric pressure. Determine the volume ratio (V;: V50fCo anf H, in

the original mixture .

° Watch Video Solution

98. In the reaction 2Al(s) + 6HCl(aq) — 2AICI3 + 3H, Find the mass

of AICI3 formed with 103g of HCl react with Al?

° Watch Video Solution

99. Oxidation state(s) of chlorine in CaOCl, (bleaching powder)

° Watch Video Solution

100. The oxidation number of sulphur in Sg, SoFy, HyS and HyS0,

respectively are :

° Watch Video Solution



https://dl.doubtnut.com/l/_0ZnKkgju2SaG
https://dl.doubtnut.com/l/_HCIepnwp7pIf
https://dl.doubtnut.com/l/_d0iumPFdcNSM
https://dl.doubtnut.com/l/_8USVoMRfEZFS
https://dl.doubtnut.com/l/_u40ePsAwnzp1

101. In the chemical reaction,
KQCT’207 + 11st04 + ySO2 — KQSO4 + CT2(SO4)3 + ZH20, the

value of z, y and z respectively are :

° Watch Video Solution

102. Balance the followings equations and choose the quantity which is
the sum of the coeffficients of reactants and products

e i CSy + oo . Cly — .o Cly.... . SyCly

° Watch Video Solution

103. Balance the followings equations and choose the quantity which is
the sum of the coefficients of reactants and products

....... .PtCI, + ..... XeFygivesPtFs + .....CIF + ..... Xe

° Watch Video Solution



https://dl.doubtnut.com/l/_u40ePsAwnzp1
https://dl.doubtnut.com/l/_fbVb4LETSgkC
https://dl.doubtnut.com/l/_yuuxTUuhcxxw
https://dl.doubtnut.com/l/_iZCFuvvmBlfp

104. Hydrazinc reacts with K1Oj in pressence of HCl as
NoH, + IO3 +2H +Cl- — ICI+ N, + 3H,0

The equivalent masses of Ny H, and KI1Oj respectively are:

o Watch Video Solution

105. H,O, is used as bleaching reagent because on dissociation it gives
oxygen

1
<H202 — HQO + EOz)
"Chachi420" used H,0, solution to bleach her hair and she required
2.24L0, gas at 1latm and 273K. She has a H,O, solution labelled '5.6V'

then what volume of such solution must she required to bleach her hair?

o Watch Video Solution

106. A sample of 1.0g of solid Fe;O30f80 % purity is dissolved in a

moderately concentrated HCl solution which is reduced by zinc dust. The


https://dl.doubtnut.com/l/_iZCFuvvmBlfp
https://dl.doubtnut.com/l/_0s2caUOtcihC
https://dl.doubtnut.com/l/_GQSmK2iu50xi

resulting solution required 16.7mL of a 0IM solution of the oxidant.

Calculate the number of electrons taken up by the oxidant.

o Watch Video Solution

107. Stannous sulphate (SnSO,) and potassium permanganate are used
as oxidising agents in acidic medium for oxidation of ferrrous ammnium
sulphate to ferric sulphate. The ration of number of moles of stannous
sulphate required per mole of ferrous ammonium sulphate to the
number of moles of KMnQO, required per mole of ferrous ammonium

sulphate, is:

o Watch Video Solution

108. In a iodomeric estimation, the following reactions occur
20uT +4i~ — Cusly + I, I, + 2Nay 8,03 — 2Nal + NayS,04
0.12 mole of CuSO4 was adde to excess of Kl solution and the liberated

iodine required 120mL of hypo. The molarity of hypo soulution was:

. l


https://dl.doubtnut.com/l/_GQSmK2iu50xi
https://dl.doubtnut.com/l/_OMyQKrTaDupw
https://dl.doubtnut.com/l/_P7jaNUIQ6kNF
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109. 32g of a sample of FeS0O,.7TH,0 were dissolved in dilute sulphuric
aid and water and its volue was made up to 1litre. 25mL of this solution
required 20mL of 0.02MKMnQO, solution for complete oxidation.

Calculate the mass% of F'eSO4.7TH50 in the sample.

° Watch Video Solution

110. Calculate the molality of a solution containing 20.7g potassium

carbonate dissolved in 500ml of solution (assume of density of solution =

1g/ml)

° Watch Video Solution

111. Calculate the normality of solution containing 31.5g of hydrated oxalic

acid C2H204. 2H20 in 1250 ml of solution?

° Watch Video Solution



https://dl.doubtnut.com/l/_P7jaNUIQ6kNF
https://dl.doubtnut.com/l/_yyrBoODaV9CD
https://dl.doubtnut.com/l/_GzckldRJ6Ocr
https://dl.doubtnut.com/l/_TQkwZ1qTrCEN

112. A solution is prepared by dissolving 2g of substance A in 18g of water.

calculate the mass percentage of solute?

° Watch Video Solution

113. Calculate the number of millilitre of NH;s(aq) solution
(d - 0.986%1:) contain 2.5 % by mass N Hs, which will be required to

precipitate iron as Fe(OH), in a 0.8g sample that contains 50 % F'e;Os.

° Watch Video Solution

114.n the preparation of iron from haematite (Fe5O3) by the reduction
with carbon Fe;O3 + C — Fe + CO5 how much 80 % pure iron may

be produced from 120kg of 90 % pure Fe;O3 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_TQkwZ1qTrCEN
https://dl.doubtnut.com/l/_34nKjDWpFsqd
https://dl.doubtnut.com/l/_Q2J0DerVAu9m
https://dl.doubtnut.com/l/_3NlbzewTLaLm
https://dl.doubtnut.com/l/_DJBmGxJLHQ0y

115. A mineral consists of an equimolar mixture of the carbonates of two
bivalent metals. One metal is present to the extent of 12.5 % by mass
2.8¢g of the mineral on heating lost 1.32g of CO,. What is the % by mass

of the other metal ?

o Watch Video Solution

116. How many molecules and atoms of sulphur are present in 0.1 mole of

S8 molecule?

o Watch Video Solution

117. A metal M forms the sulphate M5(SO,),. A0.596 gram sample of the
sulphate reacts with excess BaCl, to given 1.220gBaSO,4. What is the

atomic mass of M? (Atomic mass : S = 32, Ba = 137.3)

o Watch Video Solution



https://dl.doubtnut.com/l/_DJBmGxJLHQ0y
https://dl.doubtnut.com/l/_9EoYi67C4AJD
https://dl.doubtnut.com/l/_E2qAtYOzq3XI

118. A silver coin weighing 11.34 g was dissolved in nitric acid When
sodium chloride was added to the solution all the silver (present as
AgNQO;) precipitated as silver chloride. The mass of the precipitated

silver chloride was 14.35 g. Calculate the percentage of silver in the coin.

o Watch Video Solution

119. 100cm? of a solution of an acid (Molar mass = 98) containing 29.4g
of the acid per litre were completely neutralized by 90.0cm® of aq.

NaOH containing 20g of NaOH per 500cm?>. The basicity of the acid is :

o Watch Video Solution

120. The concentration of an oxalic acid solution is x mol litre™-1. 40m L of
this solution reacts with 16mL of 0.05M acidified K MnQO,. What is the

pH of 'xX' M oxalic acid solution ? (Assume that oxalic acid dissociates

completely).)

| o Wikl .\ dan C Al iklmn



https://dl.doubtnut.com/l/_dAtGzReKVKJB
https://dl.doubtnut.com/l/_VBZDzLwOYAIE
https://dl.doubtnut.com/l/_HGYXnQWheCLL
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Level 1(Q.1To Q.30)

1. Calculate number of neutrons present in 12 x 10* atoms of oxygen

(80'): (Given : Ny = 6 x 10%)

A. 1800
B. 1600
C. 1800V,

D. 3200V,

° Watch Video Solution

2. If mass of one atom is 3.32 x 10" 23g, then calculate number of

nucleons (neutrons and protons) present in 2 atoms of the element:


https://dl.doubtnut.com/l/_HGYXnQWheCLL
https://dl.doubtnut.com/l/_GltTR37hTRjK
https://dl.doubtnut.com/l/_TTrkHMhZFgDy

A. 40

B. 20

C.10

D. 40N,

° Watch Video Solution

3. Calculate number of electrons present in 9.5g of PO, :

A6
B. 5N,
C.0.1N,

D.4.7N

o Watch Video Solution



https://dl.doubtnut.com/l/_TTrkHMhZFgDy
https://dl.doubtnut.com/l/_c4WrMmCnxq2n
https://dl.doubtnut.com/l/_Gqu4unRVEqpE

4. What is the number of moles of O-atoms in 126 amu of HNQO;3 ?

A2

° Watch Video Solution

5.What is the charge of 96 amu of s~ ?

A. 2C
B.3.2 x 10~ C
C.9.6 x 10" ¥C

D.6C



https://dl.doubtnut.com/l/_Gqu4unRVEqpE
https://dl.doubtnut.com/l/_HBsIJt3BfoZA

[ @ Watch Video Solution J

6. A sample of sodium has a mass of 46g. What is the mass of the same

number of calcium atoms as sodium atoms present in given sample ?

A.46¢g

B.20 g

C.40g

D.80g

o Watch Video Solution

7. The total number of neutrons present in 54mLH,O(1) are:

A 3Ny
B.30N4

C.24N,


https://dl.doubtnut.com/l/_HBsIJt3BfoZA
https://dl.doubtnut.com/l/_d2wqWngAL2Us
https://dl.doubtnut.com/l/_jyB6t5rwiDP3

D. None of these

° Watch Video Solution

8. Total number of electrons present in 48gmG* ™ are:

A 24Ny
B.2NN4
C.20N4

D. None of these

° Watch Video Solution

9. The number of neutrons in 5g of D, O(Dis .} H)

A.0.25N,


https://dl.doubtnut.com/l/_jyB6t5rwiDP3
https://dl.doubtnut.com/l/_x8AHrLinEx6D
https://dl.doubtnut.com/l/_M64E7CsqZHBY

B.2.5N4

C.1.1N,

D. None of these

° Watch Video Solution

10. Cisplatin, an anticancer drug, has the molecular formula
Pt(NHj3),Cly. What is the mass (in gram) of one molecule ? (Atomic
masses : Pt = 195, H = 14, Cl = 35.5)

A.4.98 x 10~ 22

B.1.08 x 10~ 22

C.6.55 x 10~ %

D.3.85 x 1022

° Watch Video Solution



https://dl.doubtnut.com/l/_M64E7CsqZHBY
https://dl.doubtnut.com/l/_XapSEoGAweXo

11. Aspirin has the fromula Cy HgO4. How many atoms of oxygen are there

in a tablet weighing 360mg ?

A.1.204 x 10?3

B.1.08 x 10?2

C.1.204 x 10**

D.4.81 x 10%!

o Watch Video Solution

12. 20g of ideal gas contains only atoms of S and O occupies 5.6L at 1

atm and 273K. what is the molecular mass of gas ?

A. 64

B. 80

C.96


https://dl.doubtnut.com/l/_EIZdM07eqRXD
https://dl.doubtnut.com/l/_Ak8SKl9ce0QE

D. None of these

o Watch Video Solution

13. A sample of ammonium phosphate, (NH,), POy, contains 6 moles of
hydrogen atoms. The number of moles of oxygen atoms in the sample is :
A1
B.2
C.4

D.6

° Watch Video Solution

14. Total number of moles of oxygen atoms in 3 litre O3(g) at

27°C and 8.21 atm are:


https://dl.doubtnut.com/l/_Ak8SKl9ce0QE
https://dl.doubtnut.com/l/_73SUPDa0WFWB
https://dl.doubtnut.com/l/_pUKDfmdOEIKy

A3

B.1

C.1

D. None of these

° Watch Video Solution

15.3.011 x 10*? atoms of an element weighs 1.15gm. The atomic mass of
the element is :

A 10ap

B.2.3au

C.35.5au

D. 23au

o Watch Video Solution



https://dl.doubtnut.com/l/_pUKDfmdOEIKy
https://dl.doubtnut.com/l/_TKT3OYStNu5u

16. One atom of an element z weighs 6.643 x 10~ 23g. Number of moles
of atoms in its 20kg is :

A4

B. 40

C.100

D. 500

o Watch Video Solution

17. Mass of one atom of the element A is 3.9854 x 10~ 23g. How many
atoms are contained in 1g of the element A ?

A.2.509 x 120%

B.6.022 x 107

C.12.044 x 10%


https://dl.doubtnut.com/l/_TKT3OYStNu5u
https://dl.doubtnut.com/l/_mc3hIk8LV9T3
https://dl.doubtnut.com/l/_maxm5KHNQZvt

D. None of these

o Watch Video Solution

18. Which of the following contains the largest mass of hydrogen atoms ?

A) 5 mole C2H204 B) 1.1 Mole C3H803 C) 1.5 Mole C6H806 D) 4 Mole

C2H402

A.5.0 molesCyH,0,

B.1.1 molesC3H3O5

C.1.5 molesCsH3Oq

D.4.0 molesCyH,0,

° Watch Video Solution

19. Which has minnimum number of oxygen atom ?


https://dl.doubtnut.com/l/_maxm5KHNQZvt
https://dl.doubtnut.com/l/_NTeKPzk9mHCY
https://dl.doubtnut.com/l/_RhHkIBKRzS0w

A. 10 mL H,O(1)
B. 0.1 mole V505(s)
C.12gm Os(9)

D.12.044 x 10*?> molecules of CO,

o Watch Video Solution

20.Rearrange the following (I to IV) in the order of increasing masses : A)

0.5 Mole of 03 B) 0.5g of oxygen C) 3.011 * 10”23 Molecules of 02 D) 5.6

Litres of CO2 at STP

AIl <1V <III <1

B Il <I< IV <III

CIV<II<III<I

D.I<II<III <IV



https://dl.doubtnut.com/l/_RhHkIBKRzS0w
https://dl.doubtnut.com/l/_O4QYzbne8liV

l & Watch Video Solution J

21. If the volume of a drop of water is 0.0018mL then the number of
water molecules present in a drop of water at room temperature is :
A.12.046 x 10"
B.1.084 x 10'®
C.4.48 x 10"

D. 6.023 x 10%

o Watch Video Solution

22.1t is known that atom contain protons. Neutrons and electrons. If the
mass of neutron is assumed to half of its orginal value where as that of

proton is assumed to be twice of its original value then the atomic mass

of .14 C will be -


https://dl.doubtnut.com/l/_O4QYzbne8liV
https://dl.doubtnut.com/l/_1SIhMKrILc54
https://dl.doubtnut.com/l/_Weg0w5X92rfx

A.same

B. 14.28 % less

C.14.28 % more

D. 28.56 % less

° Watch Video Solution

23. Common salt obtained from sea-water contains 8.775 % NaCl by

mass. The number of formula units of NaCl present in 25g of this salt is :

A. 3.367 x 10**formula units

B. 2.258 x 10?*formula units

C.3.176 x 10**formula units

D. 4.73 x 10**formula units

o Watch Video Solution



https://dl.doubtnut.com/l/_Weg0w5X92rfx
https://dl.doubtnut.com/l/_75qgZ4m2dVrO

24. The number of hydrogen atoms present in 25.6g of sucrose
(C19H35011) which has a molar mass of 342.3¢ is :

A.22 x 10%

B.9.91 x 10%

C.11 x 10%

D. 44 x 10%

o Watch Video Solution

25. Caffiene has a molecular mass of 194. If it contains 28.9 % by mass of

nitrogen, number of atoms of nitrogen in one molecule of caffeine is :

A 4

B.6

C.2


https://dl.doubtnut.com/l/_75qgZ4m2dVrO
https://dl.doubtnut.com/l/_BOqSoCBhfZJ1
https://dl.doubtnut.com/l/_3V9mQfIJJRbc

D.3

o Watch Video Solution

26. The density of water is 1g/mL. Water is the volume occupied by 1

molecule of water ?

A.1.44 x 10" 3mL

B.1mL

C.18mL

D.2.88 x 10~ BmL

° Watch Video Solution

27. A 25.0mm x 40.0mm piece of gold foil is 0.25mm thick. The density

of gold is 19.32%m3. How many gold atoms are in the sheet ? (Atomic


https://dl.doubtnut.com/l/_3V9mQfIJJRbc
https://dl.doubtnut.com/l/_lCHLOAfxkqyu
https://dl.doubtnut.com/l/_FNJ0PEB9qDDi

weight : Au = 197.0)

A 7.7 x 10%

B.1.5 x 10%

C.4.3 x 10*!

D. 1.47 x 10%

° Watch Video Solution

28. If average molecular mass of air is 29, then assuming N, and O,

gases are there, which options are correct regarding composition of air ?

i) 75% by mass of Nj ii) 75% by moles Nj iii) 72.41% by mass of N,

A.only (i) is are correct

B. Only (ii) is correct

C. both (ii) and (iii) are correct

D. both (i) and (ii) are correct


https://dl.doubtnut.com/l/_FNJ0PEB9qDDi
https://dl.doubtnut.com/l/_H9JN96mIPqqk

° Watch Video Solution

29. Density of dry air containing ony Ny and O, is 1.15% at 740mm of

Hg and 300K.What is % composition of Ny by mass in the air ?

A 78 %
B. 85.5 %
C.70.02 %

D.62.75 %

o Watch Video Solution

30. A gaseous mixture of Hy and CO, gases contains 66 mass % of COs.

The vapour density of the mixture is :

A 6.1


https://dl.doubtnut.com/l/_H9JN96mIPqqk
https://dl.doubtnut.com/l/_1pqCzFLN4HzV
https://dl.doubtnut.com/l/_Iw9l4gBi7i0b

B.5.4

C.2.7

D. 10.8

o Watch Video Solution

Level 1(Q.31 To Q.60)

1. A mixture contains N,O4 and NO, in the ratio 2:1 by volume. The

vapour density of the mixture is:

° Watch Video Solution

2. Density of ideal gas at 2 atm and 600K is 2g/L. Calculate relative density
of this with respect to Ne(g) under similar conditions : (given :

1 L
= — —0ol. K
R 12a,tmmol )


https://dl.doubtnut.com/l/_Iw9l4gBi7i0b
https://dl.doubtnut.com/l/_Uc0hxdJ9xDMt
https://dl.doubtnut.com/l/_51blcYu44KHr

A 25

B.2

C.3

D.5

° Watch Video Solution

3. Average atomic mass of magnesium is 24.31lamu. This magnesium is
composed of 79 mole % of 24mg and remaining 21 mole % of

25mg and 25mg. Calculate mole % of 26myg.

A.10

D. 16



https://dl.doubtnut.com/l/_51blcYu44KHr
https://dl.doubtnut.com/l/_kTTauAP3efq4

l & Watch Video Solution J

4. Indium (atomic mass = 114.82) has two naturally occurring isotopes,
the predominant one from has isotopic mass 114.9041 and abundance of
95.72 % . What is the mass for the other isotope ?

A.112.94

B. 1159

C.113.9

D.114.9

o Watch Video Solution

5. Calculate density of a gaseous mixture which consist of 3.01 x 10*
molecules of N, and 32g of Oy gas at 3 atm pressure and 860K

L
temperature (Given : R = 3 atm EO <.K)


https://dl.doubtnut.com/l/_kTTauAP3efq4
https://dl.doubtnut.com/l/_KaLfZOoda1dO
https://dl.doubtnut.com/l/_N8aEHqgoSadX

A.0.6g/L
B.1.2g/L
C.0.3g/L

D.12g/L

° Watch Video Solution

6. A mixture of Oy and gas Y (mol. wt. 80) in the mole ratio a:b has a
mean molecular weight 40. What would be mean molecular weight, if the
gases are mixed in the ratio b: @ under identical conditions ? ( gases are )
A. 40
B. 48

C.62

D.72



https://dl.doubtnut.com/l/_N8aEHqgoSadX
https://dl.doubtnut.com/l/_Zy7CjDJK0Se7

l & Watch Video Solution J

7.1f water sample are taken from sea, rivers or lake, they will be found to
contain hydrogen and oxygen in the approximate ratio of 1:8. This
indicates the law of :

A. law of conseravtion of mass

B. Definite proporation

C. Reciprocal propoertions

D. None of these

o Watch Video Solution

8. Hydrogen and oxygen combine to from HsO, and H,O containing

5.93 % and 11.2 % hydrogen respectively . The data illustrates :

A. law of conservation of mass


https://dl.doubtnut.com/l/_Zy7CjDJK0Se7
https://dl.doubtnut.com/l/_AetS587JqsPH
https://dl.doubtnut.com/l/_MNEL2lfEtfT9

B. law of constant proportion

C. law of reciprocal proportion

D. law of multiple proportion

Answer: 4

° Watch Video Solution

9. Which one the following combinations illustrate law of reciprocal

proportions ?

A. Ny,O3, NyOy, N5O5

B. NaCl, NaBr, Nal

C.CS,, CO,, SO,

D. PH3, P203, P205

Answer: 3

° Watch Video Solution



https://dl.doubtnut.com/l/_MNEL2lfEtfT9
https://dl.doubtnut.com/l/_NrbtjwVylPyV

10. Carbon and oxygen combine to form two oxides, carbon monoxide

and carbon dioxide in which the ratio of the masses of carbon and

oxygen is respectively 2: 16 and 12: 32. These figures illustrate the :

A. law of multiple proportions

B. law of reciprocal proportions

C.law of conservation of mass

D. law of constant proportains

o Watch Video Solution

11. A sample of calcium carbonate (CaCOs3) has the following percentage
composition: Ca =40% ,C = 12% ,0 = 48 % . If the law of constant
proportions is true , then the mass of calcium in 4 g of a sample of

calcium carbonate obtained from another source will be :


https://dl.doubtnut.com/l/_NrbtjwVylPyV
https://dl.doubtnut.com/l/_M3sV5xb9BkIG
https://dl.doubtnut.com/l/_pwNHz59R6cUE

A.0.016g

B.0.16¢g

C.1l.6g

D. 16g

° Watch Video Solution

12. The law of multiple proportion is illustrated by the two compounds a)
Sulphur dioxide and Sulphur trioxide :

A. Sodium chlordie and sodium bromide

B. Ordinary water and heavy water

C. Caustic soda caustic potash

D. Sulphur dioxide and sulphur trixoide

Answer: 4

| o WMl L \ A C Al iklmn



https://dl.doubtnut.com/l/_pwNHz59R6cUE
https://dl.doubtnut.com/l/_7FpfQZ4OTv92

L _vyvalilll VIUCU JUVIVLIVII )

13. All the substance listed below are fertilizers that contribute nitrogen
to the soil. Which of these is the richest source of nitrogen on a mass
percentage basis ? a) Urea b) Ammonia

A.Urea (NH,),CO

B. Ammonium nitrate ,NH,;NO;

C. Nitric oxide , NO

D. Ammonia, NHjy

o Watch Video Solution

14. One mole of element X has 0.444 times the mass of one mole of
element Y. One atom of element X has 2.96 times the mass of one atom of

12¢. What is the atomic mass of y 7°

A.80


https://dl.doubtnut.com/l/_7FpfQZ4OTv92
https://dl.doubtnut.com/l/_OBnfRLQHSuud
https://dl.doubtnut.com/l/_4j6ytY4A4Tm7

B.15.77

C.46.67

D. 40

° Watch Video Solution

15. A given sample of pure compound cotains 9.81gm of Zn, 1.8 x 10%
atoms of chromium and 0.60 mole of oxygen atoms. What is the simplest
formula ?

A. Z’I’LC'I’207

B. ZnCry0y

C. Z’I’LC’I’O4

D. Z’I’LC’I‘OG

° Watch Video Solution



https://dl.doubtnut.com/l/_4j6ytY4A4Tm7
https://dl.doubtnut.com/l/_C1JQ23OJyq7P

16. The formula of an acid is HXO,. The mass of 0.0242 moles of the acid

is 1.657g. What is the atomic mass of X ?

A.355

B. 28.1

C.128

D.19

o Watch Video Solution

17.What is the empirical formula of vanadium oxide if 2.74g of the metal

oxide contains 1.53g of metal ?

A. V5,04

B.VO

C. V5,05



https://dl.doubtnut.com/l/_KhuiiSOkMwzM
https://dl.doubtnut.com/l/_ytm4Du0Fheyp

D. V5,07

o Watch Video Solution

18. Determine the empirical fromula of kelvar, used in making bullet proof

vests, is 70.6 % C, 4.2 % H,11.8% N and 13.4 % O:

A.C;HsNO,

B. C; Hy N,O

. C,HyNO

D. C;H; NO

° Watch Video Solution

19. The hydrate salt NayCO3. x H,O undergoes 63 % loss in mass on

heating and becomes anhydrous. The value of z is :


https://dl.doubtnut.com/l/_ytm4Du0Fheyp
https://dl.doubtnut.com/l/_SlTldHHdrB48
https://dl.doubtnut.com/l/_SvlF5tpLsAhz

A.10

B.12

C.8

D.18

° Watch Video Solution

20. A 6.85g sample of the hydratedSr(OH),. xH,O is dried in an oven to
given 3.13g of anhydrous sr(OH),. What is the value of 7 (Atomic
masses : Sr = 87.60. O = 16.0, H = 1.0)

A.8

B.12

C.10

D.6



https://dl.doubtnut.com/l/_SvlF5tpLsAhz
https://dl.doubtnut.com/l/_RA1NZT66Dij6

l & Watch Video Solution J

21. What percentage of oxygen is present in the compound
CACOg_gCG,g(PO4)2?

A.23.3%

B. 45.36 %

C.41.94 %

D.17.08 %

o Watch Video Solution

22. Deildrin, an insecticide, contains C, H, Cl and O. Combustion of
29.72mg of dieldrin gave 41.21mgCQO, and 5.63mg of H,O . In a
separate analysis 25.31mg of dieldein was converted into 57.13mg Ag Cl.

What is the empirical formula of diedrin ?


https://dl.doubtnut.com/l/_RA1NZT66Dij6
https://dl.doubtnut.com/l/_4Q4L7qKsoxPs
https://dl.doubtnut.com/l/_X1pT1BhSCkdr

A.CsHCl30

B. CsHgClO

D. Cs H4Cl50,

o Watch Video Solution

23. A gaseous compound is composed of 85.7 % by mass carbon and
14.3 % by mass hydrogen. Its density is 2.28 g/litre at 300K and 1.0 atm
pressure. Determine the molecular formula of the compound.

B.CoHy

D. C4H10



https://dl.doubtnut.com/l/_X1pT1BhSCkdr
https://dl.doubtnut.com/l/_M89M0Nx0jXYL

l & Watch Video Solution J

24. Complete combustion of 0.858g of compound X given 2.64g of

CO, and 1.26 gofH (2)O. The lowest molecular mass X can have:

A47g

B.86g

C.129g

D.172 g

° Watch Video Solution

25. The sulphate of a metal M contains 9.87 % of M. This sulphate is

isomorphous with ZnS0O,;H,0. The atomic mass of M is :

A. 403

B.36.3


https://dl.doubtnut.com/l/_M89M0Nx0jXYL
https://dl.doubtnut.com/l/_ImFfryMaHEja
https://dl.doubtnut.com/l/_vkYcjQvgVg3r

C.243

D.11.3

o Watch Video Solution

26. In an organic compound of molar mass 108gmmol ~'C, H and N
atoms are presents in 9: 1: 3.5 by mass. Molecular formula can be

A CﬁHgNQ

B. C7H10N

C.C5HgN;

D. C4H18N3

° Watch Video Solution



https://dl.doubtnut.com/l/_vkYcjQvgVg3r
https://dl.doubtnut.com/l/_wOHItptAGGyl

27.0n analysis, a certain compound was found to contain 254g of iodine

(at.mass 127) and 80g oxygen (at.mass 16). What is the formula of the

compound ?

A 10

B.LO

C. I5O3

D.1.(2)0_(5)

o Watch Video Solution

28. An element A is teravalent and another element B is divalent. The

formula of the compound formed from these elements will be :

A A,B

B. AB


https://dl.doubtnut.com/l/_Y54CBoSyyehE
https://dl.doubtnut.com/l/_4zRvLFRQmN8y

C.AB,

D. A2B3

o Watch Video Solution

29. A compound used in making nylon, contains 43.8 % oxygen. There are
four oxygen atoms per molecule. What is the molecular mass of
compound ?

A.36

B. 116

C. 292

D. 146

° Watch Video Solution



https://dl.doubtnut.com/l/_4zRvLFRQmN8y
https://dl.doubtnut.com/l/_nA6Mg4lQ20MM
https://dl.doubtnut.com/l/_QGvoZZMqCH6F

30. Suppose two elements X and Y combine to form two compounds
XY, and X,Y; when 0.05 mole of XY; weight 59 while 3.011 x 10%

molecules of X,Y3 weight 85g. The atomic masses of X and Y are
respectively.

A. 23,30

B.30,40

C.40,30

D. 80,60

° Watch Video Solution

Level 1(Q.61 To Q.90)

1. 44g of a sample on complete combustion given 88gCO, and 36g of

H>0. The molecular formula of the compound may be :

A C,H,


https://dl.doubtnut.com/l/_QGvoZZMqCH6F
https://dl.doubtnut.com/l/_Crf8Y9LcDFOq

B. Cy HsO

C.CyH 0

D. C3HgO

° Watch Video Solution

2. 40 miligram diatomic volatile substance (X5) is converted to vapour

that displaced 4.92m L of air at 1atm and 300k. Atomic mass of element X

is nearly :

A. 400
B. 240
C. 200

D. 100

° Watch Video Solution



https://dl.doubtnut.com/l/_Crf8Y9LcDFOq
https://dl.doubtnut.com/l/_USc8tiEDPEmU

3. Two elements X ( atomic weight = 75) and Y( atomic weight = 16)
combine to give a compound having 75.8 % X.' The formula of the
compound is

A . XY

B. X0Y

C. XoY,

D. X,Y;

o Watch Video Solution

4. A sample of phosphorus that weighs 12.4g exerts a pressure 8 atm in a

0.821 litre closed vesel at 527°C. The molecular formula of the

phosphorus vapour is :

A P,

B. P,


https://dl.doubtnut.com/l/_2DJMlQste4Ay
https://dl.doubtnut.com/l/_e7NhrCbcSKSv

C. P,

D. P

o Watch Video Solution

5. Manganese forms non-stoichiometric oxides having the gereral formula
formula MnO,. The value of x for the compound that analyzed 64 % by
mass mn :

A 1.16

B.1.83

C.2

D.1.93

° Watch Video Solution



https://dl.doubtnut.com/l/_e7NhrCbcSKSv
https://dl.doubtnut.com/l/_2AZ5KrDizUJU
https://dl.doubtnut.com/l/_LtOo5BkdxUL5

6. 1. 44 gram if titanium (7"%) reacted with excess of Oy and produce z
gram of non — stoichiometric compound T'i1 440. The value of z is :

A 2

B.1.77

C.1.44

D. None of these

o Watch Video Solution

7.Which statement is false for the balanced equation given below ?
CS2 + 302 — 2502 + 002

A. One mole of C'S5 will produce one mole of CO,

B. The reaction of 16 g of oxygen produces 7.33gof CO,

C. The raction of one mole of O5 will produce 2 /3 "mole of" SO,

D. Six molecules of oxygen requires theree molecular of C'S;


https://dl.doubtnut.com/l/_LtOo5BkdxUL5
https://dl.doubtnut.com/l/_NZVL830jtfh2

° Watch Video Solution

8. Which of the following statements is correct ?

0.150 moles Cly x Imole  KClO3 /3molesCly x 122.5g/1

0.150  moles Cly x 1mole KClO3 /3molesCl, x 1lmole

0.150 moles Cly x 3moles Cly/1 mole KCLO3; x 122.5g/1m

0.150 moles Cly x 3moles Cly/1 mole KCLO; x 1mole K

o Watch Video Solution



https://dl.doubtnut.com/l/_NZVL830jtfh2
https://dl.doubtnut.com/l/_BLZODVZT7Ai8
https://dl.doubtnut.com/l/_9q4ZhUa3Lwjp

9. 2.0g of a sample contains mixture of Si0y and Fey0s. On very strong
heating, it leaves a residue weighing 1.96g. The reaction responsible for
loss of mass is given below. FesO3(s) — Fegoy(s) + O(s), (unbalance

equation) what is the percentage by mass of S70, in original sample ?

A 10%

B. 20 %

C.40 %

D.60 %

o Watch Video Solution

10. What volume of air at 1 atm and 273K containing 21 % of oxygen by
volume is required to completely burn sulphur (Sg) present in 200g of
sample , which contains 20 % inert material which does not burn.

1
Sulphur burns according to the reaction gSg(S) + O3(g9) — SO5(9)

A. 23.52 litre


https://dl.doubtnut.com/l/_9q4ZhUa3Lwjp
https://dl.doubtnut.com/l/_Bkfls2ZjvoI3

B. 320 litre

C. 112 litre

D. 533.33 litre

° Watch Video Solution

1. For the reaction, 2Fe(NO3) + 3NayCO — Fey(COs)4 + 6NaNO;
initially 2.5 mole of Fe(NO3), and 3.6 mole of NayCOj are taken. If 6.3
mole of NaNQj is obtained then % yield of given reaction is :

A. 50

B. 84

C.875

D. 100

° Watch Video Solution



https://dl.doubtnut.com/l/_Bkfls2ZjvoI3
https://dl.doubtnut.com/l/_TuMHDGa2DW1u

12. How many of P, can be produced by reaction of 0.10 moles
Cas(POy)4F, 0.36 moles SiO, and 0.90 moles C according to the
following reaction ?
4Ca5(PO4)3F + 1857,02 + 30C — 3P, + 2CCLF2 + 1800,8103 + 30CO
A.0.060
B.0.030

C.0.045

D.0.075

o Watch Video Solution

13. Some older emergency oxygen masks contains potassium superoxide
KO, which reacts with CO; and water present in exhaled air to produce
oxygen according to the given equation. If a person exhales 0.667g of

C O, per minute, how many gram of KO, are consumed in 5.0 minutes ?


https://dl.doubtnut.com/l/_JzRH1vFQVjgs
https://dl.doubtnut.com/l/_meUeDemOr8Im

A.10.7

B. 0.0757

C.1.07

D.5.38

° Watch Video Solution

14.The mass of Ny Fy produced by the reaction of 2.0 g of NH3 and 80 g

F; is 3.56 g. What is the per cent yield ?

A.79

B. 81.2

C.84.6

D. None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_meUeDemOr8Im
https://dl.doubtnut.com/l/_eg2QT2nPxLkS

15. Calculate the weight of lime (CaO) obtained by heating 200 kg of 95%
pure lime stone (CaCO3).

A.104.4kg

B. 105.4kg

C.212.8kg

D. 106.4kg

o Watch Video Solution

16. Phospheric acid (H3 PO,) perpared in two step process .

(1) Py + 509 — P,Oqg (2) POy + 6H,0 — 4H3PO,
Well allow 62 g of phosphrous to react with exces oxygen which from
POy in 85 % vyield . In the sep (2) reaction 90 % yield of H3)PO, is

obtained . Mass of H3 PO, produced is :


https://dl.doubtnut.com/l/_eg2QT2nPxLkS
https://dl.doubtnut.com/l/_aYRZi5WBZchw
https://dl.doubtnut.com/l/_SGywFOd1KuR5

A. 37.485¢g

B. 149. 949¢

C.125. 47g

D. 564.48¢g

° Watch Video Solution

17.9 moles of "D" and 14 moles of E are allowed to react in a closed vessel
according to given reactions. Calculate number of moles of B formed in
the end of reaction, if 4 moles of G are present in reaction vessel.
(percentage yield of reaction is mentioned in the reaction) Step -1

3D + 4E80 % — 5C + A Step-23C + 5G50 % — 6B + F

A 24

B. 30

C.4.8


https://dl.doubtnut.com/l/_SGywFOd1KuR5
https://dl.doubtnut.com/l/_M1ecAZXV5Iro

D.1

o Watch Video Solution

18. The chief ore of Zn is the sulphide ZnS. The ore is concentrated by
froth floatation process and then heated in air to convert ZnS to ZnO.
2ZnS + 30380 % — 2Zn0O + 250. ZnO+H 2SO 4 100% rarr Zn
SO 4+H 20 and 2ZnSO 4+2H 20 80% rarr 2Zn+2Hn+2H 250 4+0 2
. Thevmberofmo < sofZnSrequiredf or Huc € g2mo < sofzZn’ will

be :
A.3.125
B.2

C.2.125

D.4

o Watch Video Solution



https://dl.doubtnut.com/l/_M1ecAZXV5Iro
https://dl.doubtnut.com/l/_6bNq5OVkQOwR

19. 0.8 moles of a mixture of CO and CO, requires exactly 40 gram of
NaOH in solution for complete conversion of all the CO, into Na;COs.
How many more of NaOH would for require for conversion into
Na,COjs if the mixture (0.8 mole) is completely oxidised to CO5 ?

A.0.2

B.0.6

C.1

D.1.5

o Watch Video Solution

20. Silver oxide (Ag>0) decomposes at temperature 300°C' yielding
matellic silver and oxygen gas. A 1.60g sample of impure silver oxide
yields 0.104g of oxygen gas. What is the per cent by mass of the silver

oxide in the sample ?


https://dl.doubtnut.com/l/_6bNq5OVkQOwR
https://dl.doubtnut.com/l/_40JZSG1ZJk0K
https://dl.doubtnut.com/l/_YucmlmHpnczy

A.5.9

B.47.125

C.94.25

D. 88.2

° Watch Video Solution

21. Comprehension # 5

342g of 20 % by mass of Ba(OH), solution (sp. gr.0.57) is reacted with
1200m L of 2M HNQO; according to given balanced reaction :

Ba(OH), + 2HNO3 — Ba(NOs3), + 2H,0

Find the molarity of the ion in resulting solution by which nature of the

above solution is identified, is

A.0.25
B.0.5M

C.0.888M


https://dl.doubtnut.com/l/_YucmlmHpnczy
https://dl.doubtnut.com/l/_xVq3ihcyfdNR

D. None of these

o Watch Video Solution

22.100mL of H5S0O, solution having molarity 1M and density 1.5g /mL
is mixed with 400m L of water. Calculate final molarity of Hy SO, solution,
if final density is 1.25g /mL?

A 4.4M

B.0.145M

C.0.52M

D.0.227M

° Watch Video Solution



https://dl.doubtnut.com/l/_xVq3ihcyfdNR
https://dl.doubtnut.com/l/_jZgetLmPtNAV

23. What volume of HCTI solution of density 1.2%7713 and containing
36.5 % by mass HCI, must be allowed to react wtih zinc (Zn) in order
to liberate 4.0g of hydrogen ?

A.333.33mL

B. 500m L

C.614.66mL

D. None of these

o Watch Video Solution

24. An ideal gaseous mixture of ethane (CyHg) and ethene (CoHy)
occupies 28 litre at latm 0°C. The mixture reacts completely with
128gm O, to produce CO, and H,0. Mole of fraction at CyHy in the

mixtture is-

A.0.6


https://dl.doubtnut.com/l/_dfHVtDivUmWo
https://dl.doubtnut.com/l/_BqC0bmRIpAen

B.0.4

C.0.5

D.0.8

° Watch Video Solution

25. Wood's metal contains 50.0 % bismuth, 25.0 % lead, 12.5 % tin and
12.5% cadmium by mass. What is the mole fraction of tin ?(\ (Atomic
mass : Bi = 209, Pb = 207, Sn = 119, Cd = 112)

A. 0.202

B.0.158

C.0.176

D.0.221

° Watch Video Solution



https://dl.doubtnut.com/l/_BqC0bmRIpAen
https://dl.doubtnut.com/l/_2TEmZPpFYSnk

26. The density of a 56.0 % by mass aqueous solution of 1-propanol
(CH3;CH,CH,0OH) is 0.8975%m3. What is the mole fraction of the 1-
propanol ?

A.0.292

B. 0227

C.0.241

D.0.276

o Watch Video Solution

27. What is the molartiy of SOi_ ion in aqueous solution that contain
34.2 ppm of AL,(S0,),? (Assume complete dissociation and density of
solution 1£L)

m

A3x10*M

B.2 x 10 ¢


https://dl.doubtnut.com/l/_KFZSv4sgN9Ue
https://dl.doubtnut.com/l/_LS8tT55jeLON

C.10 *M

D. None of these

o Watch Video Solution

28. The relation between molarity (M) and molality (m) is given by :

(p=density of solution (g/mL), M;= molecular mass of solute)

1000M
1000p — M,
1000p M
1000p — MM,
1000M M
1000p — MM,

1000M
1000p — MM,

Am =

B.m =

Cm =

° Watch Video Solution



https://dl.doubtnut.com/l/_LS8tT55jeLON
https://dl.doubtnut.com/l/_xZQnRsYT3ts3

29. Molarity and molality of a solution of an liquid (mol.mass = 50) in
aqueous solution is 9 and 10 respectively. what is the density of solution ?
A.lg/cc
B.0.95g /cc
C.1.05g/cc

D.1.35¢g/cc

o Watch Video Solution

30. An aqueous solution of ethanol has density 1.025 g/mL and it is 2 M.
What is the molality of this solution ?

A 1.79

B.2.143

C.1.951


https://dl.doubtnut.com/l/_1GuF1RMbpQ66
https://dl.doubtnut.com/l/_PqZq3c4Z7U2v

D. None of these

° Watch Video Solution

Level 1(Q.91 To Q.120)

1. 0.2 mole of HCI and 0.2 mole of barium chloride were dissolved in

water to produce a 500m L solution. The molarity of the Cl — ions is :

A.0.06 M

B.0.09M

C.1.2M

D.0.80M

° Watch Video Solution



https://dl.doubtnut.com/l/_PqZq3c4Z7U2v
https://dl.doubtnut.com/l/_BUVJiRlZCNKp

2. Calculate the mass of anhyrous HCT in 10mL of concentrated HCTI
(density = 1.2%1:) solution having 37 % HCI by mass is :

A.4.44¢g

B.4.44mg

C.4.44 x 107°

D. 0.444ug

o Watch Video Solution

3. Calculate the molality of 1L solution of 80 % HQSO4<%> given that
the density of the solution is 1.80gm.L ~".

A.8.16

B.8.6

C.1.02


https://dl.doubtnut.com/l/_KQVenNro7y6s
https://dl.doubtnut.com/l/_9z2vuBKg7lfE

D.10.8

o Watch Video Solution

4. Fluoxymesterone, C1qgH59F O3, is an anabolic steroid. A 500 mL
solution is prepared by dissolving 10.0mg of the steoid in water. 10.0m L
portion of this solution is diluted to a final volume of 1.00L. what is the
resulting molarity ?

A1.19 x 10710

B.1.19 x 107

C.5.95 x 108

D.2.38 x 10~ 1

° Watch Video Solution



https://dl.doubtnut.com/l/_9z2vuBKg7lfE
https://dl.doubtnut.com/l/_wKuy3Sw7Js7t

5.The 25m L of a 0.15M solution of lead nitrate, Pb(NOs), reacts with all
of the aluminium sulphate, Aly(SO 4) 3, present € 20 mL
ofasolution. WisthemolarconcentrationoftheAl 2(SO 4) 37
3Pb(NO 3) 2(aq)+Al _2(SO _4) 3(aq)rarr3PbSO 4(s)+2AI(NO 3) 3(aq)’

A.6.25 x 107 *M

B.2.421 x 10 °M

C.0.1875M

D. None of these

o Watch Video Solution

6. Concentrated HNO; is 63 % HNQO3 by mass and has a density of

1.4£L. How many millilitres of this solution are required to prepare
m

250mL of a 1.20M H NOj solution ?

A. 18.0


https://dl.doubtnut.com/l/_AIzOduIiWwmC
https://dl.doubtnut.com/l/_6XEfe8V2rmwK

B.21.42

C.20.0

D.14.21

° Watch Video Solution

7. 50mL of 20.8% (w/V) BaClI, (aq) and 100mL of 9.8 % mL(w/V)
H,504(aq) solutions are mixed. Molarity of Cl~ ion in the resulting
solution is : (At mass of Ba = 137)

A.0.333M

B. 0.666M

C.0aM

D.133M

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6XEfe8V2rmwK
https://dl.doubtnut.com/l/_xUoKGevJjF7m

8. 100m.L of 10 % NaOH(%) is added to 100m.L of 10 % HC’I(%).
The nature of resultant solution is :

A. alkaline

B. strongly alkaline

C. acidic

D. neurtal

Answer: C

o Watch Video Solution

9. How many millilitres of 0.1MH,S50, must be added to 50mL of
0.1MNaOH to give a solution that has a concentration of 0.05M in

H,50,7?

A.400mL


https://dl.doubtnut.com/l/_xUoKGevJjF7m
https://dl.doubtnut.com/l/_ciotpvAMSu0r
https://dl.doubtnut.com/l/_aovlb7719I6i

B.200mL

C.100mL

D. none of these

Answer: C

° Watch Video Solution

10. IMHCI and 2MHCTI are mixed are mixed in volume ratio of 4: 1.

What is the final molarity of HCT solutions ?

A 15

B.1

C.12

D.18

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aovlb7719I6i
https://dl.doubtnut.com/l/_ZK0rNLxIPIDi

1. Three solutions X,Y,Z of HCl are mixed to produce 100mL of 0.IM

solution . The molarities of X,Y and Z are 0.7M, 0.12M and 0.15M

respectively. What respective volumes of X,Y and Z should be mixed?

A.50mL, 25mL, 25mL

B.20mL, 60mL, 20mL

C.40mL, 30mL, 30mL

D.55mL, 20mL, 25m L

Answer: D

o Watch Video Solution

12. A bottle of an aqueous H50O, solution is labelled as '28V ' H,0, and

the density of the solution < S iL) is 1.25. Choose the corrects option
m

: A) Molality of H202 is 2 B) Molarity of H202 is 5 C) Molality of H202 is

2.15 D) None of these


https://dl.doubtnut.com/l/_ZK0rNLxIPIDi
https://dl.doubtnut.com/l/_9uJodcwmQdL0
https://dl.doubtnut.com/l/_Qs2RbXhcp5va

A. Molarity of HyOssolution is2

B. Molarity of HOysolution isb

C. Molarity of H,Ossolution is2.15

D. none of these

Answer: C

o Watch Video Solution

13. The impure 6g of NaC' is dissolved in water and then treated with
excess of silver nitrate solution. The mass of precipitate of silver chloride
is found to be 14g. The % purity of ‘NaCl solution would be :

A.0.95

B. 0.85

C.0.75

D. 0.65


https://dl.doubtnut.com/l/_Qs2RbXhcp5va
https://dl.doubtnut.com/l/_TY2pT0GiqGJr

Answer: A

° Watch Video Solution

14. AL;(SO4)4 solution of 1 molal concentration is present in 1 litre
solution of density 2.684il. How many moles of BaSO, would be
m
precipitated on adding excess of BaCl, in it ?
A.2 moles
B. 3 moles

C.6 moles

D. 12 moles

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TY2pT0GiqGJr
https://dl.doubtnut.com/l/_Rv5Uq4aN4sbo

15. A certain public water supply contains 0.10ppb (part per billion) of
chloroform (CHCI3). How many molecules of CHCI; would be
obtained in 0.478m L drop of this water ?(assumed d = I%L)

A4 x 107" x Ny

B.107% x Ny

C.4x107 19 x Ny

D. none of these

Answer: A

o Watch Video Solution

16. Decreasing order (first having highest and then other following it) of
mass of pure NaOH in each of the aqueous solution

(P) 50 gm of 40 % (w /w) NaOH

(Q) 50 gm of 50 % (w / V') NaOH [dop,. = 1.2gm /ml]

(R) 50 gm of 20 M NaOH [dyy,. = 1gm /ml]


https://dl.doubtnut.com/l/_UGogHKrCFbSN
https://dl.doubtnut.com/l/_fDnA1xvYvvXP

B. iii,ii,i

C. i,

Answer: B

o Watch Video Solution

17. What is the molar mass of diacidic organic Lewis base (B), if 12g of its

chloroplatinate salt (BH,PtCIj) on ignition produced 5g residue of Pt
?

A. 52

B. 58

C.88

D. none of these


https://dl.doubtnut.com/l/_fDnA1xvYvvXP
https://dl.doubtnut.com/l/_Vg3R9zMSgkBq

Answer: B

° Watch Video Solution

18. On strongs heating, One gram of the silver salt of an organic dibasic

acid yields 0.5934g of silver. If the mass percentage of carbon in it 8 times

the mass percentage of hydrogen and one - half the mass percentage of

oxygen, determine the molecular formula of the acid.

A.Cy4HiOy

B. Cy HyOg

C.C,H;0,

D. C5H1()O5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Vg3R9zMSgkBq
https://dl.doubtnut.com/l/_Rz3OW7Btkv1Q

19. 0.607g of a silver salt of tribasic organic acid was quantitatively

reduced to 0.37g of pure Ag. What is the molecular mass of the acid ?

o Watch Video Solution

20. A sample of peanut oil weighing 2g is added to 25mL of 0.40M KOH.
After saponification is complete, 8.5mL of 0.28M H,S0, is needed to
nuetralize excess of KOH. The saponification number of peanut oil is :
(saponification number is defined as the milligrams of KOH consumed
by 1g of oil)

A.146.72

B.223.44

C.98.44

D.98.9

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Gc9a9AdwVvXb
https://dl.doubtnut.com/l/_ErmNQEk6ZSsj

21. 20mL of a mixture of CO and H, were mixed excess of Oy and
exploded & cooled. There was a volume contraction of 18mL. All volume
measurements corresponds to room temperature (27°C) and one
atmospheric pressure. Determine the volume ratio (V;: V50fCo anf Hy in
the original mixture .

Al:2

B.3:2

C.2:3

D.4:1

Answer: B

o Watch Video Solution

22.1In the reaction 2A4l(s) + 6 HCl(aq) — 6CIl ™ (aq) + 3H;


https://dl.doubtnut.com/l/_ErmNQEk6ZSsj
https://dl.doubtnut.com/l/_VqmAE3cXDBos
https://dl.doubtnut.com/l/_NzKpLjBv7HA7

A.6LHCI(aq) is consumed for every 3LH,(g) produced
B.33.6L Hy(g) is produced regardless of temperature and pressure

for every mole Al that reacts

67.2LHsatlatm and 273Kis produced for every mole Al that reacts
D.11.2L Hs(g) at 1 atm and 273K is produced for every mole HCl(aq)

consumed

Answer: D

o Watch Video Solution

23. The percentage by volume of C3Hg in a gaseous mixture of
C3Hg, CH4 and CO is 20. When 100m L of the mixture is burnt in excess
of O, the volume of CO, produced is :

A. 173 mL

B. 160mL


https://dl.doubtnut.com/l/_NzKpLjBv7HA7
https://dl.doubtnut.com/l/_r30zKlcq5Ism

C.140mL

D. none of these

Answer: C

o Watch Video Solution

24. 40mL gaseous mixture of CO,CH, and Ne was exploded with
10m L of oxygen. After treatment with KOH the volume reduced by 9mL
and again on treatment with alkaline pyrogallol, the volume further
reduced by 1.5 mL. percentage of CH, in the original mixture is :

A. 225

B.775

C.75

D.15

Answer: D



https://dl.doubtnut.com/l/_r30zKlcq5Ism
https://dl.doubtnut.com/l/_FejPwIwxz7Oi

| ¥ Vvvatch video sSolution J

25. A gaseous mixture of propane and butane of volume 3 litre on
complete combustion produces 11.0 litre CO5 under standard conditions

of temperature and pressure. The ratio of volume of butane to propane is

A 1:2

B.2:1

C.3:2

D.3:1

Answer: B

o Watch Video Solution

26. Phosphorous has the oxidation state of +1in:

A. Orthophosphoric acid


https://dl.doubtnut.com/l/_FejPwIwxz7Oi
https://dl.doubtnut.com/l/_sPXooK1NYmNT
https://dl.doubtnut.com/l/_VkOKlZChvlW9

B. Phosphorous acid

C. Hypophosphoric acid

D. Metaphosphiric acid

Answer: C

° Watch Video Solution

27.The oxidation state (s) of CI in CaOC1, (bleaching powder) is/are :

A. +lonly
B. — lonly
C.+1and —1

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VkOKlZChvlW9
https://dl.doubtnut.com/l/_rwbbO3ZOPRL7
https://dl.doubtnut.com/l/_5yAILVVieWgC

28. The oxidation number of sulphur in Sg, SoFy, HyS and H,S0,

respectively are :

A0, +1, —2 and 6

B.+2,0, +2 and 6

C.0, +1, +2 and 6

D.—2,0, +2 and 6

Answer: A

° Watch Video Solution

29. Fe shows an oxidation state of +1in:

A Fe(CO),
B. [Fe(H,0);NO| S0,
C.Fey[Fe(CN)] 3

D. F€4Cl4_


https://dl.doubtnut.com/l/_5yAILVVieWgC
https://dl.doubtnut.com/l/_YJOIF1SkKqQi

Answer: B

° Watch Video Solution

30. When SO, is passed into an acidified potassium dichromate solution,

the oxidation numbers of sulphur and chromium in the final products

respectively are :

A.+6, +6

B.+6, +3

C.+0, +3

D.+2, +3

Answer: B

° Watch Video Solution

Level 1(Q.121 To Q.150)



https://dl.doubtnut.com/l/_YJOIF1SkKqQi
https://dl.doubtnut.com/l/_KAsVNjtlYwY2
https://dl.doubtnut.com/l/_vcAJuvle7zs0

1. The oxidation number of nitrogen atoms in NH,;NOs are :

A+3, +3

B.+3, —3

D.—5, +3

Answer: C

° Watch Video Solution

2. The oxidation state of S-atoms in Caro's and Marshall's acids are :

A.+6, +6

B.+6, +4

C.+6, —6

D.+4, +6


https://dl.doubtnut.com/l/_vcAJuvle7zs0
https://dl.doubtnut.com/l/_wWbvRfK1THdH

Answer: A

° Watch Video Solution

3. What is the oxidation number of Mn in Potassium Permanganate ?

o Watch Video Solution

4.The oxidation numbers of oxygen in KO3, Na;O- respectively are :

C. 0,

D.—0.33, — 1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wWbvRfK1THdH
https://dl.doubtnut.com/l/_PwK7S0XDg2qV
https://dl.doubtnut.com/l/_xOYGzNjwfIDV

5. The oxidation number of phosphorus in Ba(H;PO,), is :

A—1
B.+1
C.+2

D.+3

Answer: B

o Watch Video Solution

6. If it is known that Feyg60, Fe is present in +2 and + 3 oxidation

state, What is the mole fraction of Fe™ in the compound ?

A 12
"~ 25

B 25
T 12

C1
T 12

b 11
T 12



https://dl.doubtnut.com/l/_xe9si8Eg0jII
https://dl.doubtnut.com/l/_k3UB3STZ1klv

Answer: D

o Watch Video Solution

7. Which of the following sequence of compounds is according to the

decreasing order of the oxidation state of nitrogen ?

A.HNO;, NO, NH,Cl, N,

B. HNO;3, NO, Ny, NH,ClI

C. HNO;, NH,Cl, NO, N,

D. NO, HNO3, NH,CI, N,

Answer: B

o Watch Video Solution

8.2 mole of Ny H, loses 16 mole of electron is beings converted to a new

compound X. Assuming that all of the N appears in the new compound.


https://dl.doubtnut.com/l/_k3UB3STZ1klv
https://dl.doubtnut.com/l/_IJ8OdQmMhoXd
https://dl.doubtnut.com/l/_EJHJUWvzlnt0

What is the oxidation state of 'N'in X ?

C.+2

D.+4

Answer: C

° Watch Video Solution

9. When K5Cry07 is converted to K,CrO,4 then change in the oxidation

state of chromium is :

A.O

B.6

C.4

D.3


https://dl.doubtnut.com/l/_EJHJUWvzlnt0
https://dl.doubtnut.com/l/_wOvUDVu5vzFc

Answer: A

° Watch Video Solution

10. When a manganous salt is fused with a mixture of KNO;3 and solid

NaOH, the oxidation number of Mn change from +2to:

A +4

B.+3

C.+6

D.+7

Answer: C

° Watch Video Solution

M.In Fe(II) — MnO, titration, HNOj is not used because :


https://dl.doubtnut.com/l/_wOvUDVu5vzFc
https://dl.doubtnut.com/l/_0Utt8Py9O4EU
https://dl.doubtnut.com/l/_EEtUQqVxwi9Q

A. it oxidisesMn>+
B. it reducesMnO,
C.it oxidiseFe®™

D. it reduces Fe®  formed

Answer: C

o Watch Video Solution

12. Which species are oxidised and reduced in the reaction?
FeC504 + KMnO, — Fe*™ + COy + Mn*™"

A. Oxidised: Fe, C,Reduced: Mn

B. Oxidised: Fe, Reduced:Mn

C. Reduced: Fe, Mn,Oxidised:C

D. Reduced:C,Oxidised:Mn, Fe

Answer: A



https://dl.doubtnut.com/l/_EEtUQqVxwi9Q
https://dl.doubtnut.com/l/_IIrha8bGUbPL

| ° Watch Video Solution

13. In which of the following reactions, H,O, is acting as a reducing

agent?

A SO2 + H202 — H2504

B.2KI + H,O, — 2KOH + I,

C. PbS + 4H,0, — PbSO4 + 4H50

D. Ag20 + HQOQ — 2Ag + H2O + 02

Answer: D

° Watch Video Solution

14. Following reaction describes the rusting of iron
4Fe + 305 — 4Fe3™ + 60%~

Which one of the following statements is incorrect?


https://dl.doubtnut.com/l/_IIrha8bGUbPL
https://dl.doubtnut.com/l/_1N9sYjZIRzta
https://dl.doubtnut.com/l/_DmyjLbp6oJW2

A. This is an example of a redox reaction
B. Metallic iron is reduced to Fe* ™
C. Fe* ™ is an oxidising agent

D. Metallic iron is a reducing agent

Answer: B

o Watch Video Solution

15. Which reaction does not represent auto redox or disproptionation?

B. 2H202 — H202
C.2Cu™ — Cu’" + Cu

D. (NH4)2C’I”207 — Ny + C’l"203 + 4H20

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DmyjLbp6oJW2
https://dl.doubtnut.com/l/_7NrRN4MToiPb

16. Which of the following is redox reaction ?

A. H,50, reach with NaOH

B. In atmoshere, O; is formed from O, by lightning

C. Evaporation of H,O

D. Oxides of nitrogen are formed form nitrogen & oxygen by lightning

Answer: D

° Watch Video Solution

17. Which of the following is redox reaction?

A.2Na[Ag(CN),] + Zn — Nay[Zn(CN),] + 24g
B. 30,02 + H2504 — BG,SO4 + H202

C. N205 + HQO — 2HNO3


https://dl.doubtnut.com/l/_7NrRN4MToiPb
https://dl.doubtnut.com/l/_dDjVMmkdmHKm
https://dl.doubtnut.com/l/_EVGTFh0YvLvx

D. AgNO; + KI — AgI + KNOs

Answer: A

° Watch Video Solution

18. For the redox reation
MnO,; + Cy0. + HY — Mn®"CO, + H,0
The correct stoichiometric coefficients of Mno, ,C,0;  and H*
respectively:
A. 2]16,5
B. 16,5,2
C.5]16,2

D. 2,516

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EVGTFh0YvLvx
https://dl.doubtnut.com/l/_zLprEV45FhjW

19. In the chemical reaction,
KyCryO7 + Hy804 + ySO; — K3804 + Cry(S04)4 + zH,0
x,y, and zare

A. x=1y=3,z-=1

B. x=4,y=1,z=4

C. x=3y=2.z=1

D. x=2.y=2,z=1

Answer: A

o Watch Video Solution

20. Balance the followings equations and choose the quantity which is
the sum of the coeffficients of reactants and products

ceee s CSQ + . Cl2 ey G Cl4 . SQCZQ

A5


https://dl.doubtnut.com/l/_bNwDVLlilw8T
https://dl.doubtnut.com/l/_xaUUqfRePUCs

B.3

C.6

D.2

Answer: D

° Watch Video Solution

21. Balance the followings equations and choose the quantity which is the
sum of the coefficients of reactants and products

....... . PtCIy + .... . XeFygivesPtFg + ......CIF + .... . Xe

A.16

B.13

D.12

Answer: A

[ - ]


https://dl.doubtnut.com/l/_xaUUqfRePUCs
https://dl.doubtnut.com/l/_owd5kOcbYcIx

Watch Video Solution J

22.If 01 mole H3 PO, is completely neutralised by 5.6g KOH then select

the true statement.

A. x=3 and given acid is diabasic

B. x=4 and given acid has no P=H linkage

C.x=2 and given acid does not form acid salt

D. all of these

Answer: C

o Watch Video Solution

23.When potassium permanganate is titrated against ferrous ammonium
sulphate in acidic medium, the equivalent mass potassium permanganate

is,


https://dl.doubtnut.com/l/_owd5kOcbYcIx
https://dl.doubtnut.com/l/_81Fbls38Pueg
https://dl.doubtnut.com/l/_sfcAMr4gujKb

molecular mass

A.
3
molecular mass
B.
5
molecular mass
C.
2
b molecular mass
' 10
Answer: B

o Watch Video Solution

24. Equivalent mass of F'eS, inthe half reaction, F'eSy — FesO3 + SO,

is :

A M
10
g. M
11
M
"6
0. M
1



https://dl.doubtnut.com/l/_sfcAMr4gujKb
https://dl.doubtnut.com/l/_9iq4hPOMtOFu

| ° Watch Video Solution

25. What is the oxidation number of Cr in Potassium Dichromate ?

Answer: D

° Watch Video Solution

26. Equivalent weight of H3 PO, when it disproportionates into PH3 and

H3POj is (molwt. of H3 PO, = M)

A M



https://dl.doubtnut.com/l/_9iq4hPOMtOFu
https://dl.doubtnut.com/l/_PhMUifsdHPVq
https://dl.doubtnut.com/l/_CaMZKKgh0fvW

Answer: D

° Watch Video Solution

27. In the following reaction,
AsyS3+ H™ + NO; 7 NO + H,0 + AsOi_ + SOZ_ the equivalent

mass of AsyS3 is related to its molecular mass by :

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CaMZKKgh0fvW
https://dl.doubtnut.com/l/_yvYr3HvKqCZR

28. Sulphur forms the chlorides S5Cl; and SCl,. The equivalent mass of

sulphur in SCI, is :

A. 8g/mol

B. 16g/mol

C. 64.8g/mol

D. 3g/mol

Answer: B

o Watch Video Solution

29. The equaivalent mass of an element is 4. Its chloride has a vapour

density 59.25. Then, the velency of the elements is :

A 4

B.3


https://dl.doubtnut.com/l/_yvYr3HvKqCZR
https://dl.doubtnut.com/l/_4Bduz6zh2duK
https://dl.doubtnut.com/l/_Yb2u5DeLquyo

C.2

D.1

Answer: B

o Watch Video Solution

30.6 x 10~ mole K,Cr,C; reacts completely with 9 x 102 mole X"

to give XO; and Cr®" . The value of nis :

Al
B.2
C.3

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Yb2u5DeLquyo
https://dl.doubtnut.com/l/_Tzhh3toFXhKn

Level 1(Q.151 To Q.180)

1. What mass of HyC504. 2H;0(mol. mass = 126) should be dissoved
in water to prepare 250mL of centinormal solution which act as a
reducing agent?

A.0.63g

B.0.1575g

C.0126g

D. 0.875g

Answer: B

° Watch Video Solution

2.The equivalent weight of salt

KHC,04. H,C704.4H50 when used as reducing agent : —

Mol.mass
1


https://dl.doubtnut.com/l/_PS6yyjhLlPxu
https://dl.doubtnut.com/l/_8ckKs6P0YBh0

Mol.mass
Mol.mass

Mol.mass

Answer: D

° Watch Video Solution

3. The eequivalent mass of divalent metal is W. The molecular mass of its

chloride is :

A. W+35.6

B. W+72

C.2W+72

D.2W+35.6

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8ckKs6P0YBh0
https://dl.doubtnut.com/l/_P0ONnwIlz9P7

4. When BrOg_ iron reacts with Br~ in acid medium, Br, is liberated.

The equivalent mass of Brj in this reaction is :

Answer: C

o Watch Video Solution

5.I1f m4 gram of a metal A displaces mp gram of another metal B from its
salt solution and if the equilvalent mass are E4 and Ep respectively

then equivalent mass of A can be expressed as:

m
A.EA:m—;iXEB


https://dl.doubtnut.com/l/_P0ONnwIlz9P7
https://dl.doubtnut.com/l/_aikJFCHCathh
https://dl.doubtnut.com/l/_vBoFyDKO4l5k

B.E, =
A o
mp
CEy,=—7—XxF
A B4 B
m
D.E = ,/—2 x Ep
mp
Answer: A

o Watch Video Solution

6. Hydrazine reacts with KIOj in presence of HCl as :
NyHy + 10, +2H" 4+ Cl~ — ICI + N, + 3H,0
The equivalent masses of Ny H, and K1Oj respectively are :
A.8 and 53.5
B. 16 and 53.5

C.8and 35.6

D. 8 and 87

Answer: A

[ -


https://dl.doubtnut.com/l/_vBoFyDKO4l5k
https://dl.doubtnut.com/l/_dCJChgKMH4fa

| @J Watch Video Solution J

7. What will be the normality of solution obtained by mixining

0.45N and 0.60NNaOH in the ratio 2: 1 by volume ?

A. 04N

B.0.5N

C.1.05N

D. 0.15N

Answer: B

° Watch Video Solution

8. A solution contaning
2.7 x 10 3molofA® " ion required1.6 x 10~ *molofMnO;~ for the

oxidation of A2+toA03_ the medium is:


https://dl.doubtnut.com/l/_dCJChgKMH4fa
https://dl.doubtnut.com/l/_RDrNfCoUV3NR
https://dl.doubtnut.com/l/_WiKRbZ6lOqyD

A. neutral

B. acidic

C.strong basic

D. none of these

Answer: B

o Watch Video Solution

9. H,0O, is used as bleaching reagent because on dissociation it givens
oxygen <H202 — Hy0 + %02>. Chachi 420 used H>0O, solution to
bleach her hair and she required 2.24L.0O, gas at 1 atm and 273K. She has
a H50O, solution labelled as 5.6V then What volume of such solution

must she required to bleach har hair ?

A. 200mL
B.300mL

C.400mL


https://dl.doubtnut.com/l/_WiKRbZ6lOqyD
https://dl.doubtnut.com/l/_JXsmqyFPDJUJ

D. 500mL

Answer: C

° Watch Video Solution

10. 1.25g of a solid dibasic acid is completely neutralised by 25m L of 0.25
molar Ba (OH), solution. Molecular mass of the acid is :

A. 100

B. 150

C.120

D. 200

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_JXsmqyFPDJUJ
https://dl.doubtnut.com/l/_4Y7ExcNZFtck

N N
1.10mL of an N — HCI, 20mL of 7H2504 and 30mL of ?HNO:g
are mixed together and volume made to one litre. The normality of H *
in the resulting solution is :

A.3N/100
B.N/10

C.N/20

D. N/40

Answer: A

o Watch Video Solution

12. 0.45g of acid (mol. Wt. = 90) was exactly neutralized by 20ml of

0.5(M)NaOH.

The basicity of the given acid is

Al


https://dl.doubtnut.com/l/_qHWCVbASrO1I
https://dl.doubtnut.com/l/_Wz7hEMeAZTU4

B.2

C.3

D.4

Answer: B

° Watch Video Solution

13. A sample of 28 mL of Hy O, (aq) solution required 10 mL of 0.1 M
KMnQOy (aq) solution for complete reaction in acidic medium. What is

the volume strength of HyO5 ? X

Al
B.0.5
C.04

D.0.2

Answer: C

[ - 1



https://dl.doubtnut.com/l/_Wz7hEMeAZTU4
https://dl.doubtnut.com/l/_IDZ4rODfeTg3

| @ Watch Video Solution J

14. Which species are oxidised and reduced in the reaction?
FeCy04 + KMnO, — Fe*™ + COy + Mn*™"

A. 012litre

B. 0.028 litre

C.0.56 litre

D. 112 litre

Answer: C

o Watch Video Solution

15. A sample of 1.0g of solid FeyO030f80 % purity is dissolved in a
moderately concentrated HCl solution which is reduced by zinc dust. The
resulting solution required 16.7mL of a 0IM solution of the oxidant.

Calculate the number of electrons taken up by the oxidant.


https://dl.doubtnut.com/l/_IDZ4rODfeTg3
https://dl.doubtnut.com/l/_CNZ9u06isHr7
https://dl.doubtnut.com/l/_wvL342WZwl7I

A2

B.4

C.6

D.5

Answer: C

o Watch Video Solution

16. KMnQO, reacts with oxalic acid according to the equation
2MnOy + 5C,02~ + 16H " — 2Mn** + 10CO, + 8H,0 Here, 20mL
of 0.1M K HMnQy is equivalent to :

A. 120mLof025MH2CQO4

B. 150mL0f010MH2C'2O4

C. 25mL0f020MH2C'2O4

D. 50m Lof0. 20MH2 Cg 04



https://dl.doubtnut.com/l/_wvL342WZwl7I
https://dl.doubtnut.com/l/_dmZsbWDZKwuN

Answer: C

° Watch Video Solution

17. Ratio of moles of Fe (ll) oxidised by equal volumes of equimolar

KMnO4 and K5C7ry07 solutions in aidic medium will be :

A 5:3

B.1:1

C.1:2

D.5:6

Answer: D

° Watch Video Solution

18. The mass of a mixture containing HCI and H550, is 0.1g On

treatment with an excess of an AgINOj5 solution , reacted with this acid


https://dl.doubtnut.com/l/_dmZsbWDZKwuN
https://dl.doubtnut.com/l/_p7Pvfd89AvQp
https://dl.doubtnut.com/l/_htWTcurcQ3Oa

mixture given 0.1435¢g of AgCI. Mass % of the H, SO, mixture is :

A.36.5

B.63.5

C.50

D. none of these

Answer: B

o Watch Video Solution

19. A solution of NayS5503 is standardized iodometrically against 0.167g
of KBrOs. This process requires 50mL of the NayS,03 solution. What
is the normality of the Nay5,05. ?

A. 02N

B. 0.12N

C.0.72N


https://dl.doubtnut.com/l/_htWTcurcQ3Oa
https://dl.doubtnut.com/l/_a2JjwkNkUAyd

D. 0.02N

Answer: B

o Watch Video Solution

20. 0.80g is impure (NH,)SO,) was boiled with 100mL of 0.2NNaOH
solution till all the NH;3(g) evolved. The remaining solution was diluted
to 250mL. 25mL of this solution was neutralized using 5mL of
0.2NH,S0, solution. The percentage purity of the (NHy),S50, sample
is :

A. 825

B.725

C.625

D.175

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_a2JjwkNkUAyd
https://dl.doubtnut.com/l/_ZU7vTkKIQMiH

21.The N Hj evolved due to complete conversion of NV from 1.12g sample
of protien was absorbed in 45mL of 0.ANHNQO;3. The excess acid
required 20mL of 0.1NaOH. The % N in the sample is :

A.8

B.16

C.20

D. 25

Answer: A::C

o Watch Video Solution

22. Find out % of oxalate ion in a given sample of an alkali metal oxalate
salt, 0.30g of it is dissolved in 100mL water and its required 90mL of

centimolar KMnQ, solution in acidic medium :


https://dl.doubtnut.com/l/_ZU7vTkKIQMiH
https://dl.doubtnut.com/l/_yhhCBohto1kr
https://dl.doubtnut.com/l/_uoIF48OENbvQ

A. 0.66

B. 0.55

C.044

D. 0.066

Answer: A

o Watch Video Solution

23. 320mg of sample of magnesium having a coating of its oxide required
20mL of 0.1M hydrochloric acid for the complete neutralisation of the
latter. The composition of the sample is :

A. 87% Mg and 12.5%MgO

B.12.5% Mg and 87.5 %MgO

C.80% Mg and 20%MgO

D. 20% Mg and 80%MgO


https://dl.doubtnut.com/l/_uoIF48OENbvQ
https://dl.doubtnut.com/l/_tgM9dsBLk2jV

Answer: C

o Watch Video Solution

24. The concentration of bivalent lead ions in sample of polluted water
that also contains nitrate ions is determined by adding solid sodium
sulphate  (m =142) to  exacty 500mL  water = 500mL
water. Calcatethemolarityofkeadion if 0355g" of solium sulphate

was needed for complete precipitation of lead ions as sulphate.

o Watch Video Solution

25. What volume of HNOj5 (sq.gravity 1.05gm L~ ! containing 12.6(%)

of HNQOj3) that reduce into NO is required to oxidise iron

gFeSO,. TH50 in acid medium is :

A.70mL

B. 0.57mL


https://dl.doubtnut.com/l/_tgM9dsBLk2jV
https://dl.doubtnut.com/l/_sDoNuL1MzmXb
https://dl.doubtnut.com/l/_k36BIOAHiBns

C.80mL

D. 0.65mL

Answer: C

° Watch Video Solution

26. 1 mole of equimolar mixture of ferric oxalate and ferrous oxalate

requires x mole of KMnQ, in acidic medium for complete oxidation. x is :

A. 1.096mL

B.132mL

C.548mL

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_k36BIOAHiBns
https://dl.doubtnut.com/l/_K5QWDX4uvECb
https://dl.doubtnut.com/l/_FmbpVs3f2Mqj

27.When 2.5¢g of a sample of mohr's salt reacts completely with 50m L of

N
1—0KMnO4 solution. The % purity of the sample of Mohr's salt is :

A. 784

B.70

C.37

D. 40

Answer: A

o Watch Video Solution

28.4 mole of a mixture of Mohr's salt and Fe5(SO,), requires 500m.L of
1M K,Cr50 for complete oxidation in acidic medium. The mole % of the
Mohr's salt in the mixture is :

A. 25

B. 50


https://dl.doubtnut.com/l/_FmbpVs3f2Mqj
https://dl.doubtnut.com/l/_P2laWImNF4yn

C.60

D.75

Answer: D

° Watch Video Solution

29. The equivalent mass of a metal is twice to that of oxygen. How many
times is the equivalent mass of it's oxide than the equivalent mass of the
metal ?

Al:5

B.2

C.3

D.4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_P2laWImNF4yn
https://dl.doubtnut.com/l/_0tz0dKsquqlr

30. A metal oxide has the formula X,03. It can be reduced by hydrogen
to give free metal and water. 0.1596g of metal oxide requires 6mg of
hydrogen for complete reduction. The atomic mass of the metal (in amu)
is :

A.15.58

B.155.8

C.5.58

D.55.8

Answer: D

° Watch Video Solution

Level 1(Q.181 To Q.200)



https://dl.doubtnut.com/l/_0tz0dKsquqlr
https://dl.doubtnut.com/l/_Db3qIevbtNL4

1. Calculate the mass of anhydrous oxalic acid, which can be oxidised to
CO4(g) by 100mL of an MnO, solution, 10mL of which is capable of
oxiding 50mL of 1INI~ to L.

A. 45g

B.22.5g

C.30g

D. 12.25g

Answer: B

o Watch Video Solution

2. An element have atomic number 12. write its electronic configuration,

period & group to which it belongs.

o Watch Video Solution



https://dl.doubtnut.com/l/_9pZ6xf1GgiC6
https://dl.doubtnut.com/l/_vMK55HbDallq

3. Stannous sulphate (Sn.SO,) and potassium permanganate are used as
oxidising agents in acidic medium for oxidation of ferrous ammonium
sulphate to ferric sulphate. The ratio of number of moles of stannous
sulphate required per mole of ferrous ammounium sulphate to the
number of moles of KMnQO, required per mole of ferrous ammonium
sulphate, is :

A 25

B.0.2

C.04

D.2

Answer: A

o Watch Video Solution

4.If a g is the mass of NaHC,0, required to neutralize 100mL of 0.2M

NaOH and b g that required to reduce 100mL of 0.02M KMnOQO, in acidic


https://dl.doubtnut.com/l/_gocSAbIfQOHf
https://dl.doubtnut.com/l/_UEoMkxLRHiJx

medium then:

A. a=b

B. 2a=b

C.a=2b

D. none of these

Answer: D

o Watch Video Solution

5.2 mole, equimolar mixture of Na;C504 and H,C50, required VL of
0.IMKHMO, in acidic medium for complete oxidation. The same
amount of the mixture required VoL of 0.2M NaOH for neutralization.
Theratioof V; — Vsis:

Al:2

B.2:1

C.4:5


https://dl.doubtnut.com/l/_UEoMkxLRHiJx
https://dl.doubtnut.com/l/_T7qAtvcEbT0M

D.5:4

Answer: C

° Watch Video Solution

6. A mixture containing 0.05 mole of KyCryO; and 0.02 mole of
KMnO, was treated with excess of KI in acidic madium. The librated
iodine required 1.0L of NaS503 solution for titration. Concentration of
Nay 5505 solution was :

A.0.4molL 1

B.0.20molL 1

C.0.25molL 1

D.0.30molL !

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_T7qAtvcEbT0M
https://dl.doubtnut.com/l/_9TduaaIlsZVB

7. 25mL of 2NHCI, 50mL of ANHNQO3 and xmL of 2MH,50, are
mixed together and the total volume is made up to 1L after dilution.
50mL of this acid mixture completely reacted with 25mL of a 1Nay,CO3
solution. The value of x is :

A. 250mL

B. 62.5mL

C.100mL

D. none of these

Answer: B

o Watch Video Solution

8. In an iodometric estimation, the following reactions occur
20Ut + 41~ 7 CUL I, + is, I + 2NayS,05 — 2Nal + NasS,04 0.12
mole of CuSO, aws added to excess of K1 solution and the liberated

iodine required 120m L of hypo. The molarity of hypo solution was :


https://dl.doubtnut.com/l/_qRdDjcISYsfg
https://dl.doubtnut.com/l/_V9UBGh65FDP0

A2

B.0.2

C.01

D.1

Answer: D

o Watch Video Solution

9. 1g mixture of equal number of mole of LisCos and other metal
carbonate (M;COj3) required 21.6mL of 0.5NHCI for complete
neutralisation reaction. What is the approximate atomic mass of the
other metal ?

A. 25

B. 23

C.51

D. 118


https://dl.doubtnut.com/l/_V9UBGh65FDP0
https://dl.doubtnut.com/l/_0Fe8oB6Jorea

Answer: D

° Watch Video Solution

10. 32g of a sample of F'eSO,4. TH,O were dissolvedin dilute sulphuric
acid and water and its volume was made up to 1 litre. 25mL of this
solution required 20mL of 0.02MKMnQO, solution for complete
oxidation. Calculate the mass % of FeSO,. TH50 in the sample.

A.34.75

B. 69.5

C.89.5

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0Fe8oB6Jorea
https://dl.doubtnut.com/l/_1xU438TZIcp6

1. A mixture NaOH + Na;COj required 25mL of 0.1 M HCl using using
phenolpththalein indicator. However the same amount of the mixture
required 30mL of 0.IM HCl when methyl orange was used as the indicator.

The molar ration of NaOH and NayCOs in the mixture was:

A. 2x

B.y

C.x/2

D. (y-x)

Answer: D

o Watch Video Solution

12.0.1g of a solution containing Nay;CO3 and NaHCOj3 requires 10mL
of 0.0LIVHC for neutralization using phenolphthalein as an indicator.

mass % of Na;C'Oj3 in solution is :


https://dl.doubtnut.com/l/_b6IVQz8JrFuC
https://dl.doubtnut.com/l/_SOaygFkH4bFh

A. 25

B.32

C.50

D. none of these

Answer: C

o Watch Video Solution

13. A mixture NaOH + NayCOj3 required 25mL of 0.1 M HCl using using
phenolpththalein indicator. However the same amount of the mixture
required 30mL of 0.IM HCl when methyl orange was used as the indicator.
The molar ration of NaOH and NayCQOj in the mixture was:

A2:1

B.1:2

C.4:1

D.1:4


https://dl.doubtnut.com/l/_SOaygFkH4bFh
https://dl.doubtnut.com/l/_Sxa8McXXDfcK

Answer: A

o Watch Video Solution

14. When 100mL solution of NaOH and NaCOs was first titrated with
N/10 HCl in presence of HPh, 17.5mL were usedtill end point is obtained.
After this end point MeOH was added and 2.5mL of same HCl were
required to attain new end point. The amount NaOH in mixture is:

A. 0.06g per 100mL

B. 0.06g per 200mL

C.0.05 g per 100mL

D.0.012 g per 200mL

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Sxa8McXXDfcK
https://dl.doubtnut.com/l/_2YzzbNciWK2c

15. A sample of pure sodium carbonate 0.318g is dissolved in water and

titrated with HCl solution. A volume of 60mL is required to reach the

methyl orange end point. Calculate the molarity of the acid.

A.0.IM

B. 0.2M

C.04M

D. none of these

Answer: A

o Watch Video Solution

16. 10L of hard water required 5.6g of lime for removing haardness.

Hence temporary hardness in ppm of CaCOy3 is :

A. 1000

B. 2000


https://dl.doubtnut.com/l/_fY9Urb23VKAr
https://dl.doubtnut.com/l/_kPIOAg9AxIr0

C.100

D.1

Answer: A

° Watch Video Solution

17. 1L of pond water contains 20mg of Ca®" and 12mg of mg*™ ions.
What is the volume of a 2NNay,COj5 solution required to soften 5000L
of pond water ?

A. 500L

B. 50L

C.5L

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kPIOAg9AxIr0
https://dl.doubtnut.com/l/_iETTXdMRVvo2

18. One litre of a sample of hard water contain

4.44mgCaCl, and 1.9mgofMgCl,. What is the total hardness in terms

of ppm of CaCO3?

A. 2ppm

B.3ppm

C.4ppm

D. 6ppm

Answer: D

o Watch Video Solution

19. select incorrect statement :

0.02

A. Mass ratio ofCaCOstoH,01is 100

B. Mole ratio ofCaCO3toH,0is3.6 x 10~ °


https://dl.doubtnut.com/l/_iETTXdMRVvo2
https://dl.doubtnut.com/l/_wLp9YJ9lAL1o
https://dl.doubtnut.com/l/_4EumitzO1UQS

C. Mass ofCaCOjzpresent in hard wateris0.2g /L

D. 1 miliequivalent ofCaCOspresent in 1kg of hard water

Answer: D

o Watch Video Solution

Level 2 (Q.1 To Q.30)

1. A mixture of NHyNO3 and (NH,),HPO, contain 30.40 % mass per

centof nitrogen. What is the mass ratio of the two components in the

mixture ?

A2:1

B.1:2

C.3:4

D.4:1


https://dl.doubtnut.com/l/_4EumitzO1UQS
https://dl.doubtnut.com/l/_paebGSSei6Fn

Answer: A

° Watch Video Solution

2. What volume of 75 % acohol by weight <d = 0.80%7713) must be used
to prepare 150cm® of 30 % alcohol by mass (d = O.90%m2) ?

A.67.5 mL

B.56.25 mL

C.44.44 mL

D. None of these

Answer: A

° Watch Video Solution

3. Calculate the number of millilitre of NH;z(aq) solution

(d = 0.986%L) contain 2.5 % by mass NHj3, which will be required to


https://dl.doubtnut.com/l/_paebGSSei6Fn
https://dl.doubtnut.com/l/_hxlLK29M1L5F
https://dl.doubtnut.com/l/_finF2Auxa1fs

precipitate iron as Fe(OH), in a 0.8g sample that contains 50 % Fe5Os.

A. 0344 mL
B.3.44 mL
C.17.24 mL

D.10.34 mL

Answer: D

o Watch Video Solution

4.In the preparation of iron from haematite (Fe;03) by the reduction
with carbon Fe;O3 + C — Fe + COy how much 80 % pure iron may
be produced from 120kg of 90 % pure Fe;Os5 ?

A.94.5 kg

B. 60.48 kg

C.116.66 kg


https://dl.doubtnut.com/l/_finF2Auxa1fs
https://dl.doubtnut.com/l/_RxcPqlaAXwCy

D. 120 kg

Answer: A

° Watch Video Solution

5. A mineral consists of an equimolar mixture of the carbonates of two
bivalent metals. One metal is present to the extent of 12.5 % by mass
2.8¢ of the mineral on heating lost 1.32g of CO,. What is the % by mass
of the other metal ?

A. 875

B.35.71

C. 651

D. 23.21

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RxcPqlaAXwCy
https://dl.doubtnut.com/l/_zrFUf761xUWj

6.6.2g of a sample containing Nay,CO3, NaHCOj3 and non-volatile inert
impurity on gentle heating loses 5% of its mass due to reaction
2NaHCO3 — NayCO3 + Hy0 + CO- . Residue is dissolved in water
and formed 100mL solution and its 10mL portion requires 7.5mL of
0.2M aqueous solution of BaCl, for complete precipitation of
carbonates. Determine mass (in gram) of NayCOjs in the original sample.

A.1.59

B. 1.06

C.0.53

D. None of these

Answer: B

o Watch Video Solution

7. Nitric acid can be produced from NHj in three steps process below

(I)4NH3(g) + 502(g9) — 4NO(g) + 6H>0(g)


https://dl.doubtnut.com/l/_9V7gC9QNoQ6x
https://dl.doubtnut.com/l/_tZamCbO21J4X

(II)2NO(g) + Oy — 2NO,(9g)
(II1)3NOs(g) + H2O(l) — 2HNO3(aq) + NO(g) percent vyield of
1°t, 2" and 3 step are respectively 50 % , 60 % and 80 % respectively
then what volume of NH;(g) at 1 atm and 0°C required to produced
1575g of HNOs.

A.156.25

B.350L

C.3500L

D. None of these

Answer: C

o Watch Video Solution

8.1 M NaOH solution was slowly added in to 1000 mL of 183.75 g impure

H,S50, solution and the following plot was obtained. The percentage


https://dl.doubtnut.com/l/_tZamCbO21J4X
https://dl.doubtnut.com/l/_P0YkctCFvdAo

purity of HySO, sample and slope of the curve respectively are:

b \
N
AN
N
i AN
o 4. AN
(- AN
fmot/l ) N
N
N
\
[+ \
RN
: 4 — $
Volume of NaOH added
(L)
1
A. 75%, — 3
1

B. 80%, — bY
C. 80%, -1

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_P0YkctCFvdAo
https://dl.doubtnut.com/l/_feG1bdFC8onG

9. MnO> on ignition converts into Mn304. A sample of pyrolusite having

75% MnQOs, 20% inert impurities and rest water is ignited in air to

constant mass. What is the percentage of Mn in the ignited sample ?

A.0.246

B.37

C.55.24

D. 0.7405

Answer: C

o Watch Video Solution

10. A 1.0g sample of a pure organic compound cotaining chlorine is fused
with Na2O3 to convert chlorine to NaCl. The sample is then dissolved in
water, and the chloride precipitated with AgINOs, giving 1.96 g of AgCl. If
the molecular mass of organic compound is 147, how many chlorine does

each molecule contain ?


https://dl.doubtnut.com/l/_feG1bdFC8onG
https://dl.doubtnut.com/l/_gYYiN1yti8rY

Al

B.2

C.3

D.4

Answer: B

o Watch Video Solution

11. A 0.6gm sample consisting of only CaC50,4 and MgC50y is heated at
500° Cgets converted into CaCOs; and MgCQOs. The sample then
weighed 0.465gm. If the sample had been heated to 900° C' where the
products are CaO and MgO, then what would the mixture of oxides

weigh?

A.0l12g
B.0.21g

C.0252g


https://dl.doubtnut.com/l/_gYYiN1yti8rY
https://dl.doubtnut.com/l/_LM3jkSMDu6Pc

D.03g

Answer: C

° Watch Video Solution

12. A metal M forms the sulphate M;(S0y),. A0.596 gram sample of the
sulphate reacts with excess BaCl, to given 1.220gBaSO,4. What is the
atomic mass of M? (Atomic mass : S = 32, Ba = 137.3)

A. 269

B. 69.7

C.558

D. 23

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LM3jkSMDu6Pc
https://dl.doubtnut.com/l/_mSSnRNeQaX74
https://dl.doubtnut.com/l/_GdRV3oEc9gyR

13. At identical temperature and pressure the rate of diffusion of
hydrogen gas is 3,/3 times that of a hydrocarbon having molecular
formula C,, Hs,,_5 What is the value of n ?.

A.a.CigHos

B.b.CioHyg

C.c Ci3Hag

D.d Cngg

Answer: B

o Watch Video Solution

14. 11.6g of an organic compound having formula C,,Hy, , 5 is burnt in
excess of Os(g) initially taken in a 22.41 litre steel vessel. Before
reactioOn the gaseous mixture was at 273K with pressure reading 2 atm.
Aftercomplete combustion and loss of considerable amount of heat, the
mixture of product and excess of O, had a temperature of 546K and 4.6

atm pressure. The formula of organic compound is :


https://dl.doubtnut.com/l/_GdRV3oEc9gyR
https://dl.doubtnut.com/l/_W4ixbBCGBFl0

C. C5H12

D. C4h14

Answer: D

o Watch Video Solution

15. How many neutrons, protons & electrons are in oxygen (mass 17)

o Watch Video Solution

16. SO,C1, (sulphury chloride) reacts with water to given a mixture of
H,S0, and HCI. What volume of 0.2MBa(OH), in needed to

completely neutralize 256m L of 0.2M SO,C'I, solution :

A.25mL


https://dl.doubtnut.com/l/_W4ixbBCGBFl0
https://dl.doubtnut.com/l/_LdUF59KQMK32
https://dl.doubtnut.com/l/_z1s6Zw3hq88u

B. 50 mL

C.100 mL

D.200 mL

Answer: B

o Watch Video Solution

17. 5 g sample contain only Nay;COs3 and NasSO, . This sample is
dissolved and the volume made up to 250 mL. 25 mL of this solution
neutralizes 20 mL of 01 M H,S50;,.
Calcalute the % of Nay SO, in the sample .

A 424

B.57.6

C.36.2

D. None of these


https://dl.doubtnut.com/l/_z1s6Zw3hq88u
https://dl.doubtnut.com/l/_DrsdXuK2jgbA

Answer: B

° Watch Video Solution

18. 20 mL of 0.2 M NaOH(aq) solution is mixed with 35 mL of this 0.1 ML
NaOH (aq) solution and the resultant solution is diluted to 100 mL. 40 mL
of this diluted solution reacted with 10% impure sample of oxalic acid
(HyC50,) The mass of impure is:

A.0.15 gram

B. 0.135 gram

C.0.59 gram

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DrsdXuK2jgbA
https://dl.doubtnut.com/l/_VH0LGXyV2e7C

19. A silver coin weighing 11.34 g was dissolved in nitric acid When sodium
chloride was added to the solution all the silver (present as AgNOs)
precipitated as silver chloride. The mass of the precipitated silver chloride
was 14.35 g. Calculate the percentage of silver in the coin.

A 48 %

B.95.2 %

C.90%

D. 80%

Answer: B

o Watch Video Solution

20. Two elements X (at.mass 16) and Y (at.mass 14) combine to form
compounds A, B and C. The ratio be different masses of Y which

combine with a fixed mass of X in A, B and C'is 1:3:5. If 32 parts by


https://dl.doubtnut.com/l/_tE9xq2V6tAAY
https://dl.doubtnut.com/l/_7t7FKkyORUWJ

mass of X combines with 84 parts by mass of Y in B then in C, 16 parts by
mass of X will combine with :

A. 14 parts by mass of Y

B. 42 parts by mass of Y

C. 70 parts by mass of Y

D. 84 parts by mass of Y

Answer: C

o Watch Video Solution

21. The conversion of oxygen to ozone occurs to the extent of 15 % only.

Find mass of ozone that can be prepared from 67.2L of oxygen at 1 atm
and 273K will be :

Al44g

B.96 g

C.640¢g


https://dl.doubtnut.com/l/_7t7FKkyORUWJ
https://dl.doubtnut.com/l/_CLrXY8MI2ePa

D.64 g

Answer: A

° Watch Video Solution

22. RH, (ion exchange resin) can replace Ca’* ions in hard water as
RH, + Ca®" — RCa+2H ™. If 1 L of hard water after passing
through RH, has pH = 3 then hardness in parts per million of Ca®" is:
A. 20
B.10

C.40

D. 100

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CLrXY8MI2ePa
https://dl.doubtnut.com/l/_hYf7MCJSfMfD
https://dl.doubtnut.com/l/_UPGdKucL6Gud

23. 100cm? of a solution of an acid (Molar mass = 98) containing 29.4g
of the acid per litre were completely neutralized by 90.0cm?® of aq.
NaOH containing 20g of NaOH per 500cm?. The basicity of the acid is :
A3
B.2

C.1

D. data insufficient

Answer: A

o Watch Video Solution

24. 20mL of 0.1M solution of compound NayCOs.2H50 is titrated
against 0.05M HCI. xmL of HCI is used when phenolphthalein is used
as an indicator and y mL of HCl is used when methly orange is the

indicator in two separate titrations. Hence (y — z) is :

A.40 mL


https://dl.doubtnut.com/l/_UPGdKucL6Gud
https://dl.doubtnut.com/l/_zwlYpCRRzjHT

B. 80 mL

C.120 mL

D. None of these

Answer: B

o Watch Video Solution

25. A sample containing HAsO, (mol. mass = 180) and weighing 3.78¢g
is dissolved and diluted to 250mL in a volumetric flask. A50mL sample
(aliquat) is withdrawn with a pipet and titrated with 35mL of 0.056M
solution of I,. Calculate the percentage HAsO, in the sample:

A. 0.25

B.0.2

C.01

D. None of these


https://dl.doubtnut.com/l/_zwlYpCRRzjHT
https://dl.doubtnut.com/l/_hkqRTjTyCq0M

Answer: A

° Watch Video Solution

26. A mixture of FeO and Fey,Oj3 is completely reacted with 100mL of
0.25M acidified KMnQO, solution. The resulting solution was then
treated with Zn dust which converted Fe®* ™ of the solution to fe?™. The
Fe?= required 100mL of 0.10M K,Cr,0; solution. Find out the weight
% Fey05 in the mixture.

A.80.85

B.19.15

C.50

D. 89.41

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hkqRTjTyCq0M
https://dl.doubtnut.com/l/_2szYrlOPRjfi
https://dl.doubtnut.com/l/_FLb2M6oLKYgL

27. To a 10mL, 1M aqueous solution of Br,y, excess of NaOH is added so
that all Bry is disproportionated to Br~ and BrO; . The resulting
solution is free from Br —, by extraction and excess of OH ~ neutralised
by acidifying the solution. The resulting solution is suffcient to react with
2 g of impure CaC504(M= 128g/mol) sample. The % purity of oxalate
sample is :

A.853 %

B.12.5%

C.90 %

D. 64 %

Answer: B

o Watch Video Solution

28. A mixture of HyS0O, and H,C50, (oxalic acid ) and some inert

impurity weighing 3.185 g was dessolved in water and the solution made


https://dl.doubtnut.com/l/_FLb2M6oLKYgL
https://dl.doubtnut.com/l/_SshDVWeCAcaE

up to 1litre. 10 mL of this solution required 3 mL of 01 N NaOH for
complete neutralization. In another experiment 100 mL of the same
solution in hot condition required 4 mL of 0.02 M KMnOy solution for
complete reaction. The mass % of Hy SO, in the mixture was:

A 741

B. 741

C.61.75

D. None of these

Answer: B

o Watch Video Solution

29. 1 mole of equimolar mixture of ferric oxalate and ferrous oxalate

requires x mole of KMnQ, in acidic medium for complete oxidation. x is :

A. 0.5 mole

B. 0.9 mole


https://dl.doubtnut.com/l/_SshDVWeCAcaE
https://dl.doubtnut.com/l/_QtBnJPe6LdU7

C.1.2 mole

D. 4.5 mole

Answer: B

° Watch Video Solution

30. An impure sample of sodium oxalate (NayC50,) weighing 0.20g is
dissolved in aqueous solution of H,S0, and solution is titrated at 70 C
requiring 45mL of 0.02M KMnQO, solution. The end point is overrun,
and back titration in carried out with 10mL of 0.1M oxalic acid solution.
Find the % purity of NaysC50, in sample :

A. 75

B. 83.75

C.90.25

D. None of these

Answer: B


https://dl.doubtnut.com/l/_QtBnJPe6LdU7
https://dl.doubtnut.com/l/_7q2KpMiQkMFj

° Watch Video Solution

Level 2 (Q.31To Q.35)

1. 0.5 g mixture of K,Cry0; and KMnQO, was treated with excess of Kl

in acidic medium. lodine liberated required 150cm® of 010 N solution of
thiosulphate solution for titration.
Find the percentage of K;Cr,07 in the mixture :

A.14.64

B.34.2

C.65.69

D. 50

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7q2KpMiQkMFj
https://dl.doubtnut.com/l/_z6AOQGzV7WQJ

2. A 150mL of solution of I, is divided into two unequal parts. | part with
hypo solution in acidic medium. 15mL of 0.4M hypo was consumed. Il part
was added with 100mL of 0.3M NaOH solution. Residual base required
10 mL of 0.3M H, 50, solution for complete neutralization. What was the
initial concentration of 15?7

A.0.08 M

B.O1M

C.02M

D. None of these

Answer: B

° Watch Video Solution

3. Amixture of HySO,4 and H,C,0, (oxalic acid ) and some inert impurity
weighing 3.185 g was dessolved in water and the solution made up to

1litre. 10 mL of this solution required 3 mL of 0.1 N NaOH for complete


https://dl.doubtnut.com/l/_RE2TRxPCDKrK
https://dl.doubtnut.com/l/_EBXNfaMkxlEL

neutralization. In another experiment 100 mL of the same solution in hot

condition required 4 mL of 0.02 M KMnQO, solution for complete

reaction. The mass % of Hy SO, in the mixture was:

A. 40

B. 50

C.60

D. 80

Answer: A

° Watch Video Solution

4, Calculate the mass of 9.87 mole of limestone?

o Watch Video Solution



https://dl.doubtnut.com/l/_EBXNfaMkxlEL
https://dl.doubtnut.com/l/_VIv9pJYIlXNu

5.The concentration of an oxalic acid solution is x mol litre ~'. 40mL of
this solution reacts with 16mL of 0.05M acidified K MnQO,. What is the

pH of X' M oxalic acid solution ? (Assume that oxalic acid dissociates

completely).)

A.13
B. 1.699
C.1

D.2

Answer: C

° Watch Video Solution

Level 3 - Passage

1. Oleum is considered as a solution of SO3 in HyS0,, which is obtained

by passing SOjs in solution of HySO4 When 100 g sample of oleum is


https://dl.doubtnut.com/l/_cO8vdG1ucgw5
https://dl.doubtnut.com/l/_vRHj9bbeRf8M

diluted with desired mass of H,O then the total mass of H,S0,
obtained after dilution is known is known as % labelling in oleum.

For example, a oleum bottle labelled as '019 % H,SO,' means the 109 g
total mass of pure Hy S50, will be formed when 100 g of oleum is diluted
by 9 g of H,O which combines with all the free SO3 present in oleum to
form HyS04 as SO3 + H,O — H,S50,

1 g of oleum sample is diluted with water. The solution required 54 mL of

0.4 N NaOH for complete neutralization. The % free SOj in the sample is :

A.10

B. 20

C.40

D. None of these

Answer: B

o Watch Video Solution

2. Calculate the mass of 2.5 mole of naphthalene


https://dl.doubtnut.com/l/_vRHj9bbeRf8M
https://dl.doubtnut.com/l/_HYC6AuEYwXYd

o Watch Video Solution

3. Oleum is considered as a solution of SO3 in HyS0Oy, which is obtained
by passing SOj3 in solution of HySO, When 100 g sample of oleum is
diluted with desired mass of H,0O then the total mass of H,50,
obtained after dilution is known is known as % labelling in oleum.

For example, a oleum bottle labelled as '019 % H,SO,' means the 109 g
total mass of pure Hy,S0, will be formed when 100 g of oleum is diluted
by 9 g of H,O which combines with all the free SO3 present in oleum to
form HyS0,4 as SO3 + H,O — H,50,

If excess water is added into a bottle sample labelled as "112%H,S0,"
and is reacted with 5.3 g NaCOj then find the volume of CO; evolved at
1 atm pressure and 300 K temperature after the completion of the

reaction :

A.246L
B.246L

C.123L


https://dl.doubtnut.com/l/_HYC6AuEYwXYd
https://dl.doubtnut.com/l/_wE2KQDWpnQK3

D.123 L

Answer: C

o Watch Video Solution

4.0Oleum is considered as a solution of SO3 in HySOy, which is obtained
by passing SOj3 in solution of HySO, When 100 g sample of oleum is
diluted with desired mass of H,0O then the total mass of H,S50,
obtained after dilution is known is known as % labelling in oleum.

For example, a oleum bottle labelled as '019 % H,SO,' means the 109 g
total mass of pure Hy S0, will be formed when 100 g of oleum is diluted
by 9 g of H,O which combines with all the free SO3 present in oleum to
form HyS04 as SO3 + H,O — H,50,

1 g of oleum sample is diluted with water. The solution required 54 mL of

0.4 N NaOH for complete neutralization. The % free SOj in the sample is :

A 74

B. 26


https://dl.doubtnut.com/l/_wE2KQDWpnQK3
https://dl.doubtnut.com/l/_tHromFPUddzL

C.20

D. None of these

Answer: B

o Watch Video Solution

5. The strength of H,0, is expressed in several ways like molarity,
normality,% (w/V), volume strength, etc. The strength of "10 V" means 1
volume of H,O, on decomposition gives 10 volumes of oxygen at 1 atm
and 273 K or 1 litre of HyOsgives 10 litre of O, at 1 atm and 273 K The
decomposition of HyO, is shown as under :

H,0,(ag) —» H,0() + 50x()

H,0, can acts as oxidising as well as reducing agent. As oxidizing agent
H,0, is converted into HyO and as reducing agent HyO, is converted
into O,. For both cases its n-factor is 2. .. Normality ofH,0, " solution
" = 2 x molarity of H5O5 solution

What is the molarity of "11.2 V" HyO4 ?


https://dl.doubtnut.com/l/_tHromFPUddzL
https://dl.doubtnut.com/l/_0x3rRo7B1OuY

ATM

B.2M

C.56M

D.112M

Answer: A

o Watch Video Solution

6. The strength of Hy0, is expressed in several ways like molarity,
normality,% (w/V), volume strength, etc. The strength of "10 V" means 1
volume of HyO, on decomposition gives 10 volumes of oxygen at 1 atm
and 273 K or 1 litre of HyO»gives 10 litre of O, at 1 atm and 273 K The
decomposition of Hy0O5 is shown as under :

H;05(aq) — HyO(l) + 202(9)

H,0, can acts as oxidising as well as reducing agent.

What is the percentage strength (%w/V) of "11.2 V" Hy,O,

A 1.7


https://dl.doubtnut.com/l/_0x3rRo7B1OuY
https://dl.doubtnut.com/l/_gDJ41AgwbU2Q

B.34

C.34

D. None of these

Answer: B

° Watch Video Solution

7. 20mL of H505 solution is reacted with 80 mL of 0.056MKMnQO, "in

acidic medium then what is the volume strength of" H,O, ?

A. .28

B.5.6

C.11.2

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gDJ41AgwbU2Q
https://dl.doubtnut.com/l/_kxlhgEv7Yt5S

8. 40 g Ba(MnO,), (mol.mass=375) sample containing some inert
impurities in acidic medium completely reacts with 125 mL of "33.6 V" of
H,0,. What is the percentage purity of the sample ?

A.28.12

B.70.31

C.85

D. None of these

Answer: B

° Watch Video Solution

9. What is the mass of 1 mole of calcium hydroxide.

° Watch Video Solution



https://dl.doubtnut.com/l/_kxlhgEv7Yt5S
https://dl.doubtnut.com/l/_9ecuJox2fi8x
https://dl.doubtnut.com/l/_RslmtL1dLR25

10. "Equivalent mass" =("Molecular mass/Atomic mass" )/("n-factor")
n-factor is very important in redox as well as non-redox reactions. With
the help of n-factor we can predict the molar ratio of the reactant species
taking part in reactions. The reciprocal of n-factor's ratio of the reactions
is the molar ratio of the reactants.

In general n-factor of acid/base is number of moles of H" /OH ~
furnished per mole of acid/base n-factor of a reactant is number of moles
electrons lost or gained per mole of reactant.

Example 1:

(1)In acidic medium : KMnO,(n = 5) — Mn*"

(2) In neutral medium : KMnOy(n = 3) — Mn?>"

(3) In basic medium : KMnO4(n = 1) — Mn®*

Example 2: FeC,04 — Fe*™ + 2C0,

Total number of moles e~ lost by 1 mole of FeCy,0,

=14+1x2=3

n-factor of Ba(MNOy), in acidic medium is :

A.2

B.6


https://dl.doubtnut.com/l/_HUs2YJyvTFWV

C.10

D. None of these

Answer: C

o Watch Video Solution

11. "Equivalent mass" =("Molecular mass/Atomic mass" )/("n-factor")
n-factor is very important in redox as well as non-redox reactions.With
the help of n-factor we can predict the molar ratio of the reactant species
specis taking part in reactions. The reciprocal of n-factor's ratio of the
reactions is the molar ratio of the reactants.

In general n-factor of acid/base is number of moles of H" /OH ~
furnished per mole of acid/base n-factor of a reactant is number of moles
electrons lost or gained per mole of reactant.

Example 1:

(1)In acidic medium : KMnO,4(n = 5) — Mn**

(2) In neutral medium : KMnOy(n = 3) — Mn>"

(3) In basic medium : KMnO4(n = 1) — Mn®*


https://dl.doubtnut.com/l/_HUs2YJyvTFWV
https://dl.doubtnut.com/l/_wY5gkYRxw2zf

Example 2: FeCy04 — Fe3t + 200,

Total number of moles e~ lost by 1 mole of FeCy,0,

=1+1x2=3

Consider the following reaction.

H;POy + NaOH — NaH,PO, + HyO

What is the equivalent mass of H3 PO, ?(mol.Wt.is M)
A M
B.'M/2

C.M/3

D. None of these

Answer: A

o Watch Video Solution

12. "Equivalent mass" =("Molecular mass/Atomic mass" )/("n-factor")
n-factor is very important in redox as well as non-redox reactions.With

the help of n-factor we can predict the molar ratio of the reactant species


https://dl.doubtnut.com/l/_wY5gkYRxw2zf
https://dl.doubtnut.com/l/_QK9wigrKbe77

specis taking part in reactions. The reciprocal of n-factor's ratio of the
reactions is the molar ratio of the reactants.

In general n-factor of acid/base is number of moles of HT /OH ™~
furnished per mole of acid/base n-factor of a reactant is number of moles
electrons lost or gained per mole of reactant.

Example 1:

(In acidic medium : KMnOy4(n = 5) — Mn?*

(2) In neutral medium : KMnOy(n = 3) — Mn?+

(3) In basic medium : KMnOy4(n = 1) — MnS+

Example 2: FeCy,04 — Fe3™ + 200,

Total number of moles e~ lost by 1 mole of FeCy,0,

=14+1x2=3

For the reaction, Fejg50(molar mass=M) — Fe;Os what is the eq.

mass of feg 950 ?

M

" 0.85
B M
0

= &

C

" 0.8075

D. None of these


https://dl.doubtnut.com/l/_QK9wigrKbe77

Answer: A

° Watch Video Solution

13. "Equivalent mass" =("Molecular mass/Atomic mass" )/("n-factor")
n-factor is very important in redox as well as non-redox reactions.With
the help of n-factor we can predict the molar ratio of the reactant species
specis taking part in reactions. The reciprocal of n-factor's ratio of the
reactions is the molar ratio of the reactants.

In general n-factor of acid/base is number of moles of H" /OH ~
furnished per mole of acid/base n-factor of a reactant is number of moles
electrons lost or gained per mole of reactant.

Example 1:

(In acidic medium : KMnOy(n = 5) — Mn*"

(2) In neutral medium : KMnOy(n = 3) — Mn*"

(3) In basic medium : KMnOy(n = 1) — Mn®"

Example 2: FeC,04 — Fe*™ + 2C0,

Total number of moles e~ lost by 1 mole of FeCy,0,

=1+1x2=3


https://dl.doubtnut.com/l/_QK9wigrKbe77
https://dl.doubtnut.com/l/_LAm01j5EQyqD

In the reaction, VO + yFe,0O3 — FeO + V5,05 what is the value of x

and y respectively?

A1)

B.2,3

C.3,2

D. None of these

Answer: B

o Watch Video Solution

14. Consider the following series of reactions :

Cly + 2NaOH — NaCl + NaClO + H,0O

3NaClO — 2NaCl + NaClOs

4NaClO3 — 3NaClO4 + NaCl

How much Cl, is reqired to prepare 1225 g of NaClO, by above

sequencial reactions ?


https://dl.doubtnut.com/l/_LAm01j5EQyqD
https://dl.doubtnut.com/l/_Z3dYoYv7CiVG

A.284 g

B.213 g

Cl2g

D.71g

Answer: A

o Watch Video Solution

15. Consider the following series of reactions :

Cly + 2NaOH — NaCl + NaClO + H50O

3NaClO — 2NaCl + NaClOs

4NaClO3 — 3NaClO4 + NaCl

How many moles of NaCl will be formed by using 1 mole Cly and other

reagents in excess ?

A. — mol
15 mole

B. 1.67 mole


https://dl.doubtnut.com/l/_Z3dYoYv7CiVG
https://dl.doubtnut.com/l/_Jkd7VIg0UyMp

C.1.75 mole

D. 0.75 mole

Answer: C

o Watch Video Solution

16. Consider the following series of reactions :

Cly + 2NaOH — NaCl + NaClO + H,0O

3NaClO — 2NaCl + NaClO3

4NaClO3 — 3NaClO4 + NaCl

many moles NaClO3; obtained after the complection of reaction by

taking 1 mole Cly and other reagents in excess ?

A. — mole
3

B. Zero

C. — mole
4

D. 1 mole


https://dl.doubtnut.com/l/_Jkd7VIg0UyMp
https://dl.doubtnut.com/l/_HicDhWPmIwmW

Answer: B

° Watch Video Solution

Level 3 - One Or More Answers Are Correct

1.1 g of nitrogen represents :

A.6.02 x 10% N, molecules
B. 22.4 litre of N5 at 1 atm and 273 K
C. 1.2 litre of N5 at 1 atm and 273 K

D. 14 g of nitrogen

Answer: C::D

° Watch Video Solution

2.1 g molecule of V5,05 contains :


https://dl.doubtnut.com/l/_HicDhWPmIwmW
https://dl.doubtnut.com/l/_fvXUYx8zMHiy
https://dl.doubtnut.com/l/_C3jdpHy1gBZM

A. 5 mole of oxygen atom

B. 2 mole of V atom

C.1mole of oxygen atom

D. 2.5 mole of oxygen atom

Answer: A::B

o Watch Video Solution

3. Select the dimensionless quantity (ies) :

A. vapour density

B. molality

C. specific gravity

D. mass fraction

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_C3jdpHy1gBZM
https://dl.doubtnut.com/l/_2ws1kowcJS9E

4. Which of the following concentration terms is/are affected by a change

in temperature ?

A. Molarity

B. Molality

C. Normality

D. Specific gravity

Answer: A::C::D

o Watch Video Solution

5. Which of the following statements regarding the compound A, B, is

/are correct?

A.1mole of A, B, contains 1 mole of Aand 1 mole B


https://dl.doubtnut.com/l/_2ws1kowcJS9E
https://dl.doubtnut.com/l/_wsl3xpTtWQBp
https://dl.doubtnut.com/l/_JotSlg4AmFHW

B. 1 equivalent of A, B, contains 1 equivalent of A and 1 equivalent of

C.1mole of A, B, contains x moles of A and y moles of B

D. equivalent mass of A, B,=equivalent mass of A +equivalent mass of

Answer: B::C::D

o Watch Video Solution

6.1 mole of Ba(OH), will exactly neutralize :

A. 0.5 mole HCL
B. 1 mole of Hy,S50,
C.1mole of H3PO4

D. 2 mole of H3 PO,

Answer: B::C::D


https://dl.doubtnut.com/l/_JotSlg4AmFHW
https://dl.doubtnut.com/l/_rRdCRmNZM70v

o Watch Video Solution

7.The pair of species having different percentage (mass) of carbon is :

A CH3COOH and 06H12O6

B.CH;COOH and CoH;OH

C. HCOOCHj3 and HCOOH

D. C2H5OH and CH300H3

Answer: B::D

o Watch Video Solution

8. 30mL of CH3;0H(d =0.8g/cm®) is mixed with 60mL of
C’2H5OH(d:O.92g/cm2) at 25°C to form a solution of density

0.88g/cm3. Select the correct option(s) :



https://dl.doubtnut.com/l/_rRdCRmNZM70v
https://dl.doubtnut.com/l/_te1NQeGIQeAS
https://dl.doubtnut.com/l/_25dg65qD2pEa

A. Molarity and molality of resulting solution are 6.33 and 13.59

respectively

B.The mole fraction of solute and molality are 0385 and 13.59

respectively

C. Molarity and % change in volume are 0.615 and zero respectively

D.Mole fraction of solvent and molality are 0.615 and 13.59

respectively

Answer: B::C

o Watch Video Solution

9. Which of the following is/are incorrect for 17 g/L of H,O, solution ?

A.Volume strengths is 5.6 at 273 Kand 1 atm

B. Molarity of solution is 0.5 M

C. 1 mL of thios solution gives 2.8 mL O at 273 K and 2 atm


https://dl.doubtnut.com/l/_25dg65qD2pEa
https://dl.doubtnut.com/l/_h6aVPiCZMfbF

D. The normality of solution is 2 N

Answer: A::B::C

° Watch Video Solution

10. Solutions containing 23 g HCOOH is/are :

A.46g of 70% (%)HC’OOH(dSOmtm = 1.40g/mL)
B.50g of 10 M HCOOH (dyution = 19/mL)

w
C.50g of 25% (E)HCOOH

D.46 g " of 5 M " HCOOH(d,so1ution = 1g/mL)

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_h6aVPiCZMfbF
https://dl.doubtnut.com/l/_e9cGSTvrmMBM

11. A sample of Hy0O, solution labelled as "28 volume" has density of 265
g/L. Mark the correct option(s) representing concentration of same
solution in other units :
A My,0, = 2.5
w
B. % — =17
%4
C. Mole fraction of HyO5 =0.2

D. M0, = 13.88

Answer: A::C::D

o Watch Video Solution

12. 11.69 of an organic compound having formula C,Hs, , 5 is burnt in
excess of Os(g) initially taken in a 22.41 litre steel vessel. Before
reactioOn the gaseous mixture was at 273K with pressure reading 2 atm.

Aftercomplete combustion and loss of considerable amount of heat, the


https://dl.doubtnut.com/l/_6y40D4kYQ0ss
https://dl.doubtnut.com/l/_T3qbwho0VoPH

mixture of product and excess of O, had a temperature of 546K and 4.6

atm pressure. The formula of organic compound is :

A. a.30 mL,60mL,10mL

B. b.30 mL,50mL, 20mL

C. c.60 mL,30mL,20mL

D.d.20 mL,70 mL, 10 mL

Answer: A::B

o Watch Video Solution

13.1f 1 mole of H3 PO, reacts with 1 mole of X(OH), as shown below :

H3PO, + X(OH), — XHPO, + 2H,0 then

mol. mass

A. the equivalent mass of base is 5

98
B. the eq. mass of H3 POy is 5


https://dl.doubtnut.com/l/_T3qbwho0VoPH
https://dl.doubtnut.com/l/_2lO03MI6h0MO

C.the resulting solution requires 1 mole NaOH for complete
neutralization
D. minimum 1 mole of X(OH), is required for complete neutralization

of XHPO,

Answer: A::C

o Watch Video Solution

14. In acidic medium dichromate oin osxidizes stannous ion as :
zSn?t + yC’rzng +zH" — aSn*™ + bCr® T cH,0

A. "the value of x:y is " 1:3

B. the value of x+y+z is 18

C.a:b"is"3:2

D. the value of zcis 7

Answer: B::C::D



https://dl.doubtnut.com/l/_2lO03MI6h0MO
https://dl.doubtnut.com/l/_zwaC01VOifWV

| o Watch Video Solution

15. When a equimolar mixture of CusS and CuS is tirated with
Ba(MnOy), in acidic medium, the final products cintain Cu®*, Soy and

Mn2 " . If the mol. Mass of CusS, and Ba(MnOy),are My, M, and M;

respectively then :

M
A. eq. mass of C'uyS is Tl

. M
B. eq. mass of CuS is e

M.
C. eq. mass of Ba(MnQy), is =

D. C'us and CuS both have same equivalents in mixture

Answer: A::B

o Watch Video Solution

16. Which is/are INCORRECT statement ?



https://dl.doubtnut.com/l/_zwaC01VOifWV
https://dl.doubtnut.com/l/_h8XfdPTWY0zs
https://dl.doubtnut.com/l/_o6PlRvZShmjZ

A.a.Equivalent mass of H, PO is 40.5.

B.b.Eq. mass of H,PO, may be equal to molar mass or less than
molar mass because it depends on the reaction.

C.c.KMnO,4 has maximum eq. mass in acidic medium.

D. d.Oxidation state of H in MgH, is greater than in HyO,.

Answer: A::C::D

° Watch Video Solution

Level 3 - Match The Column

1. Find the atomic number, no of proton & no of neutron of element X if

mass number is 27 and no of electron is 13.

° Watch Video Solution



https://dl.doubtnut.com/l/_o6PlRvZShmjZ
https://dl.doubtnut.com/l/_dSnDograp69f

2. Draw the structure of BF3.

° Watch Video Solution

Column-II

mn-I s o |
Colu (p) When Crls oxidises into Cr,¢ : .
Molecular mass h
3 Fgomass = __53/—’ 103

Molecular mass (Q) When Fe(SCN), oxidises intg gy

B Fqg. mass =~ 77 SO 3‘ ,CO :2; and NO 4
N Molecular mass (R) When NH 4,SCN oxidizes into So*
¢ Eq. mass=———————" 2 - 4,
28 CO? and NO;
(D) Eq, mass = Molecular mass (5) When As,S; oxidises into AsO; o
24 S0

3. N

° Watch Video Solution

4. An element have three shells & have five valance electrons. identify the

element.

° Watch Video Solution



https://dl.doubtnut.com/l/_G6Xsn8PGJCen
https://dl.doubtnut.com/l/_6b2AN2ph2vQb
https://dl.doubtnut.com/l/_PpnFkLWh8hej

5. How many electrons , protons and neutrons are present in Ba2+ having

atomic no 56 and atomic mass 137.

o Watch Video Solution

Match the Colum-li

1. An element have two shells & have one valance electrons. identify the

element.

° Watch Video Solution

Column-I

. 54
(A) When Bi,S; converted into Bi and S

(B) When Al,(Cr,07)s reduced into Cr’

in acidic medium
(C) When FeS, converted into Fe,0 5 and
50,

(D) When Mn(NO3), converted into
MnOZ and NO

Column-i}
(p) 18
Q@ 1

®R) 2

S) 10

o Watch Video Solution



https://dl.doubtnut.com/l/_hc1o6T0kKB8f
https://dl.doubtnut.com/l/_bFQVsFILmZvQ
https://dl.doubtnut.com/l/_GP3do19BrR6v

Column-I
41 P,H, —> PH3 +P,H,

B) 1, —> I" +103

(C) MnO; +Mn? +H,0

— Mn;0, +H*

(D) HyPO, — PH, +H PO,

Column-I1
®» =2

@ =M

15M
R) E=—+w
® 26

) E=M
6

o Watch Video Solution

Level 3 - Assertion - Reason Type Questions

1. STATEMENTS-1 : Specific gravity is dimensionless.

STATEMENTS-2 : Specific gravity is density of a substance measured wirt.

density of water at 4° C.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1


https://dl.doubtnut.com/l/_GP3do19BrR6v
https://dl.doubtnut.com/l/_f7C4ReVBv3bC
https://dl.doubtnut.com/l/_X0vrdowqGRyH

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

2. Molality of pure water is.....cccccoocee .

A. AIf both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B.B.If both the statement are TRUE but STATEMENT-2 is NOT the

correct explanation of STATEMENT-1

C. C.If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. D.If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE


https://dl.doubtnut.com/l/_X0vrdowqGRyH
https://dl.doubtnut.com/l/_jS85jideKt7N

Answer: B

o Watch Video Solution

3. STATEMENT-1: Gram molecular mass of O is 32.

STATEMENT-2: Relative atomic mass of oxygen is 32 a.m.u.

A. If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jS85jideKt7N
https://dl.doubtnut.com/l/_mtefyeBAquYn
https://dl.doubtnut.com/l/_fta2GKCxxDPt

4. STATEMENT-1: The oxidation state of S in H,S50y is 6.

STATEMENT-2: Maximum oxidation state of A is 6 because the maximum

oxidation state of an element is equal to number of its valence electrons

in it.

A. If both the statement are TRUE and STATEMENT -2 is Athe correct

explanation of STATEMENT-1

B.B.If both the statement are TRUE but STATEMENT-2 is NOT the

correct explanation of STATEMENT-1

C. C.If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. D.If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

5. STATEMENT-1: 0.1M H3 POs(aq) solution has normality equal to 0.3 N

when completely reacted with NaOH.


https://dl.doubtnut.com/l/_fta2GKCxxDPt
https://dl.doubtnut.com/l/_d0WFpbd4tDYM

STATEMENT-2 : H3 POs is a dibasic acid.

A. Alf both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B.B.If both the statement are TRUE but STATEMENT-2 is NOT the

correct explanation of STATEMENT-1

C. C.If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. D.If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: D

o Watch Video Solution

6. STATEMENT-1: MnO- can act as an oxidizing agent as well as reducing
agent.
STATEMENT-2 : Oxidation state of MnQOs lies between highest and lowest

oxidation state.


https://dl.doubtnut.com/l/_d0WFpbd4tDYM
https://dl.doubtnut.com/l/_KmHl8yVwJUBx

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

7. STATEMENT-1: Equivalent volume of Hy is 11.2 Lat 1 atm and 273 K.
STATEMENT-2 : 1/2mole H, has produced when 1 mole of H" (aq)
accepted 1 mole of e ™.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1


https://dl.doubtnut.com/l/_KmHl8yVwJUBx
https://dl.doubtnut.com/l/_RT80vMUWxli4

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

8. STATEMENT-1 : For the reaction in titration

NayCO3 + HCL — NaCl + NaHCQOs3, the suitable indicator s

phennophthalein.

STATEMENT-2 : Phenolphthalein provide its colour in acidic medium.

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1


https://dl.doubtnut.com/l/_RT80vMUWxli4
https://dl.doubtnut.com/l/_nV4psNBXuWY6

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: C

o Watch Video Solution

9. STATEMENT-1 : [Fe(CN)().}4 — Fe*™ + CO,y + NO; , the equivalent

mass of reactant is 3.74.

Mol.mass
61

STATEMENT-2 : "Equivalent mass of reactant” =
A. Alf both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1
B.B.If both the statement are TRUE but STATEMENT-2 is NOT the
correct explanation of STATEMENT-1

C. C.If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. D.If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE


https://dl.doubtnut.com/l/_nV4psNBXuWY6
https://dl.doubtnut.com/l/_wCzuQiCBpqd9

Answer: D

o Watch Video Solution

10. STATEMENT-1: In the balanced redox reaction,
2AsyS5 + yNO; + 4Hy0 — aAsOS~ +bNO + ¢SO>™ +8H™  the
n-factor of AsyS5 and NO, is 28 and 3 respectively.
Statement-2 : Molar ratio is reciprocal of n-factor's ratio so z: y is 3: 28.
A.If both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1
B. If both the statement are TRUE but STATEMENT-2 is NOT the correct
explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wCzuQiCBpqd9
https://dl.doubtnut.com/l/_lam3nz3Wm0e7

1. STATEMENT-1 : In the given reaction,
NaOH + H3PO4 — NaH;PO,4 + H,0 equivalent mass of H3PO, is
M/3
STATEMENT-2 : H3 PO, is tribasic acid.
A. Alf both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1
B.B.If both the statement are TRUE but STATEMENT-2 is NOT the
correct explanation of STATEMENT-1

C. C.If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. D.If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_lam3nz3Wm0e7
https://dl.doubtnut.com/l/_x6OKMWrIrMaO

12. STATEMENT-1: In C'rOj oxidation number of Cr is +6.
STATEMENT-2 : CrOj has butterfly structure in which peroxide peroxide

bonds are present.

O
O O

Cr
O O

A.If both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct
explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE


https://dl.doubtnut.com/l/_uEYEBHXlElAV

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

o Watch Video Solution

13. STATEMENT-1 : I, — IO, + 17, is example of a disproportionation
reaction.
STATEMENT-2 : Oxidation number of | can vary from —1to +7.
A.If both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1
B. If both the statement are TRUE but STATEMENT-2 is NOT the correct
explanation of STATEMENT-1
C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: B

[ - 1


https://dl.doubtnut.com/l/_uEYEBHXlElAV
https://dl.doubtnut.com/l/_XHPs4spggiUd

| @ Watch Video Solution J

14. Assertion: Fluorine exists only in —1 oxidation state.
Reason: Fluorine has 2s%2p°configuration.
A.If both the statement are TRUE and STATEMENT -2 is the correct
explanation of STATEMENT-1
B. If both the statement are TRUE but STATEMENT-2 is NOT the correct
explanation of STATEMENT-1
C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: B

o Watch Video Solution

15. STATEMENT-1: H5 S0, can not act as reducing agent.

STATEMENT-2 : Sulphur can not increase its oxidation number beyond + 6.


https://dl.doubtnut.com/l/_XHPs4spggiUd
https://dl.doubtnut.com/l/_HDmb46clI5mP
https://dl.doubtnut.com/l/_t75CGUWmUcdC

A.If both the statement are TRUE and STATEMENT -2 is the correct

explanation of STATEMENT-1

B. If both the statement are TRUE but STATEMENT-2 is NOT the correct

explanation of STATEMENT-1

C. If STATEMENT- is 1 TRUE and STATEMENT-2 is FALSE

D. If STATEMENT-1 is FALSE and STATEMENT-2 is TRUE

Answer: A

° Watch Video Solution

Level 3 - Subjective Problems

1. What volume of a liquid (in L) will contain 10 mole ? If molar mass of

liquid is 280 and its density is 1.4 g/mL.

° Watch Video Solution



https://dl.doubtnut.com/l/_t75CGUWmUcdC
https://dl.doubtnut.com/l/_zR5DhsgO7His
https://dl.doubtnut.com/l/_jWRapFYBXWqd

2.16 g of SO, gas occupies 5.6 L at 1 atm and 273 K.What will be the value

of x?

° Watch Video Solution

3. 200 mL of 1 HCl, is mixed with 300 mL of 6 M and the final solution is

diluted to 1000 mL.calculate molar concentration of [H+] ion .

° Watch Video Solution

4. Ny(g) reacts with Hy(g) in either of the following ways depending
upon supply of Hy(g) :

Na(g) + Hz(g) — NoHa (1)

Na(g) + 2Hz(g) — NoHy(g)

If 5L Ny(g) and 3 L Hy(g) are taken initially (at same temperature and

pressure ), calculate the contraction in valume after the reaction (in L).

° Watch Video Solution



https://dl.doubtnut.com/l/_jWRapFYBXWqd
https://dl.doubtnut.com/l/_9avrLUbIMFuR
https://dl.doubtnut.com/l/_P7bhN3UkZiCD

5. Phospheric acid (H3PO,) perpared in two step process .

(1) Py + 509 — P,Oqg (2) PO + 6H,0 — 4H3PO,
Well allow 62 g of phosphrous to react with exces oxygen which from
POy in 85 % vyield . In the sep (2) reaction 90 % yield of H3)PO, is

obtained . Mass of H3 PO, produced is :

° Watch Video Solution

6. W is the mass of iron (in g) which will be converted into Fe3O, by the
action of 18 g of steam on it . What is the value of W/7 ?

F€+H2O — F€304+H2

° Watch Video Solution

7. Calculate the total moles of atoms of each element present in 122.5 g of

KCLO;

° Watch Video Solution



https://dl.doubtnut.com/l/_trhUAa7WaENK
https://dl.doubtnut.com/l/_4xYC43nzmGFj
https://dl.doubtnut.com/l/_YLkqmriKdlpk

8. On dissolving 2.0 g of metal in sulphuric acid 4.51 g of the metal
sulphate was formed . The specific heat of the metal is 0.057 cal

g~ 1.° C~'.What is the valency of metal ?

° Watch Video Solution

9. One gram of a metallic chloride was found to contain 0.835 g of
chlorine. Its vapour density is 85.5.If its moleculars formula is M,Cl,then

what is value of (x+y) ?

° Watch Video Solution

10. Calculate number of gram atoms in 103g of KOH.

° Watch Video Solution

1. The emperical formula of the sucrose is:


https://dl.doubtnut.com/l/_mrNOckupbhNZ
https://dl.doubtnut.com/l/_3sPDsxqjEuRr
https://dl.doubtnut.com/l/_CP08nFSJK7Cj
https://dl.doubtnut.com/l/_eZS85rohkOux

A. CH20

B.CHO

C. C12H220M

D. CH202

Answer: 5

° Watch Video Solution

12. The number of atoms of He in 104 amu is:

° Watch Video Solution

13. When BrO5 ion reacts with Br~ ion in acidic medium, Bry is

liberated. Calculate the ratio of molecular mass and equivalent mass of

KB’I’Og

° Watch Video Solution



https://dl.doubtnut.com/l/_eZS85rohkOux
https://dl.doubtnut.com/l/_Po35JllQX0na
https://dl.doubtnut.com/l/_ifHPWUPe7vp8

14. A volume of 12.5 mL of 0.05 M SeO, reacts with 25 mL of 0.1 M CrSO,
which is oxidised to Cr®". To what oxidation state was the selenium

converted by the reaction ?

° Watch Video Solution

15. A 0276 g impure sample of copper ore is dissolved and Cu?" is
titrated with Kl solution. I, liberated required 40 mL of 01 M Nay S5 Oj

solution for titration. What is the % of impurities in the ore ?

° Watch Video Solution

16. A sample of 28 mL of Hs O, (aq) solution required 10 mL of 01 M
KMnO, (aq) solution for complete reaction in acidic medium. What is

the volume strength of HyO, ? X

° Watch Video Solution



https://dl.doubtnut.com/l/_88EK99FD9mZZ
https://dl.doubtnut.com/l/_qsbqd8QkDnt3
https://dl.doubtnut.com/l/_QIPSS1CrBFGk
https://dl.doubtnut.com/l/_BbbUfuM8Gizm

. . T
17. For the redox reaction given, what is the value of — ?
z

NO; + yAsySs + zH,0 — — — AsO3” + —NO+ — SO, + — H

° Watch Video Solution

18. On heating 0.220 g of a metallic oxide in presence of hydrogen,0.045 g
of water is formed. If the equivalent mass of the metal is Eithen what is

the value of E/9

° Watch Video Solution

19. 10 g mixture of KyCr(2)0O; and KMnO, was treated with excess of
KI in acidic medium. lodine liberated 100cm® of 22 N sodium
thiosulphate solution for titration. If the mass percent of KMnQO,in the

mixture Z, then what is the value of 2Z/5 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_BbbUfuM8Gizm
https://dl.doubtnut.com/l/_ngbwMoeFZmPe
https://dl.doubtnut.com/l/_YMjEDkMLpWS4
https://dl.doubtnut.com/l/_ND6TUS6g6gCB

20. In an ore, the only oxidizable material is Sn®>". This ore is titrated
with a dichromate solution containing 2.5g of K,Cry0; in 0.5litre. A
0.40g sample of the ore required 10.0cm? of titrant to reach equivalence

point. Calculate the percentage of tin in ore.

° Watch Video Solution

1. Hydrogen and oxygen combine to from H;O, and H>O containing

5.93 % and 11.2 % hydrogen respectively . The data illustrates :

° Watch Video Solution

2. Which one the following combinations illustrate law of reciprocal

proportions ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ND6TUS6g6gCB
https://dl.doubtnut.com/l/_qTIfMWYdGDLM
https://dl.doubtnut.com/l/_Yn34IfuNAWUH

3. The law of multiple proportion is illustrated by the two compounds a)

Sulphur dioxide and Sulphur trioxide :

° Watch Video Solution

4. A bottle of an aqueous H,0O, solution is labelled as '28V ' H,0, and
the density of the solution < € %L) is 1.25. Choose the corrects option
: A) Molality of H202 is 2 B) Molarity of H202 is 5 C) Molality of H202 is

2.15 D) None of these

° Watch Video Solution

5. AI;(S804)4 solution of 1 molal concentration is present in 1 litre
solution of density 2.684%l. How many moles of BaSO, would be

precipitated on adding excess of BaCl, in it ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Wrt4MZdcdVBt
https://dl.doubtnut.com/l/_dLJpY4WTggBG
https://dl.doubtnut.com/l/_VL8dwubiLdi1
https://dl.doubtnut.com/l/_9SRrhtl8m4VI

6. A certain public water supply contains 0.10ppb (part per billion) of
chloroform (CHCI3). How many molecules of CHCI; would be

obtained in 0.478m L drop of this water ?(assumed d = I%L)

° Watch Video Solution

7.What is the molar mass of diacidic organic Lewis base (B), if 12g of its

chloroplatinate salt (BH,PtCIg) on ignition produced 5g residue of Pt

?

° Watch Video Solution

8. On strongs heating, One gram of the silver salt of an organic dibasic
acid yields 0.5934g of silver. If the mass percentage of carbon in it 8 times
the mass percentage of hydrogen and one - half the mass percentage of

oxygen, determine the molecular formula of the acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_9SRrhtl8m4VI
https://dl.doubtnut.com/l/_KD33rwFb2Eof
https://dl.doubtnut.com/l/_xE0zJAE1cfaR
https://dl.doubtnut.com/l/_YQORnCFgtsMc

9.40mL gaseous mixture of CO, CH, and Ne was exploded with 10mL
of oxygen. After treatment with KOH the volume reduced by 9mLand
again on treatment with alkaline pyrogallol, the volume further reduced

by 1.5 mL. percentage of C'Hy in the original mixture is :

° Watch Video Solution

10. A gaseous mixture of propane and butane of volume 3 litre on
complete combustion produces 11.0 litre CO5 under standard conditions

of temperature and pressure. The ratio of volume of butane to propane is

° Watch Video Solution

11. Phosphorous has the oxidation state of +-1in:

° Watch Video Solution



https://dl.doubtnut.com/l/_YQORnCFgtsMc
https://dl.doubtnut.com/l/_GZ6JvHxGSX5S
https://dl.doubtnut.com/l/_lEDP4CA43WOJ
https://dl.doubtnut.com/l/_SXW6FezJUca3

12. 40mL gaseous mixture of CO, CH,; and Ne was exploded with
10m L of oxygen. After treatment with KOH the volume reduced by 9mL
and again on treatment with alkaline pyrogallol, the volume further

reduced by 1.5 mL. percentage of CH, in the original mixture is :

° Watch Video Solution

13. Fe shows an oxidation state of +1in:

° Watch Video Solution

14.When SO is passed into an acidified potassium dichromate solution,
the oxidation numbers of sulphur and chromium in the final products

respectively are :

° Watch Video Solution

15. Fe shows an oxidation state of +1in:



https://dl.doubtnut.com/l/_SXW6FezJUca3
https://dl.doubtnut.com/l/_pt50WWx7WCgc
https://dl.doubtnut.com/l/_wwC5y0IVjA17
https://dl.doubtnut.com/l/_N86KybQuIr8N

l ° Watch Video Solution

16. In which of the follwoing the oxidation number of oxygen has been

arranged in increasing order

A.OF 2<KO 2<Ba0 2<0 3

B.BaO 2 <KO 2 <0 3<OF2

C.BaD 2<0 3<OF 2<KO 2

D.KO 2<OF 2<0 3<Ba0 2

° Watch Video Solution

17. The oxidation numbers of oxygen in KO3, Na;O- respectively are :

° Watch Video Solution



https://dl.doubtnut.com/l/_N86KybQuIr8N
https://dl.doubtnut.com/l/_Gyj5t7t5o4qh
https://dl.doubtnut.com/l/_SPukarUzcDnL

18. The oxidation number of phosphorus in Ba(H>PO,), is :

° Watch Video Solution

19. If it is known that F'ey o0, Fe is present in +2 and + 3 oxidation

state, What is the mole fraction of Fe™ in the compound ?

° Watch Video Solution

20. Which of the following sequence of compounds is according to the

decreasing order of the oxidation state of nitrogen ?

A. HNO3,NO,N2.NH4C|

D. HNO3,NH4CI,NO,N2



https://dl.doubtnut.com/l/_Jd3p6thRXGME
https://dl.doubtnut.com/l/_hsOGCuD06qvE
https://dl.doubtnut.com/l/_MhUtNUfe0cUc

| Y Watch Video Solution J

21.2 mole of N> H, loses 16 mole of electron is beings converted to a new
compound X. Assuming that all of the N appears in the new compound.

What is the oxidation state of 'N'in X ?

° Watch Video Solution

22. When SO, is passed into an acidified potassium dichromate solution,
the oxidation numbers of sulphur and chromium in the final products

respectively are :

° Watch Video Solution

23. When a manganous salt is fused with a mixture of KNO3 and solid

NaOH, the oxidation number of Mn change from +2 to :

° Watch Video Solution



https://dl.doubtnut.com/l/_MhUtNUfe0cUc
https://dl.doubtnut.com/l/_xoW171618lYC
https://dl.doubtnut.com/l/_OJoiZCTxciWB
https://dl.doubtnut.com/l/_fBjVHssBPSfJ

24.The oxidation number of nitrogen atoms in NH,NQOs are :

o Watch Video Solution

25.In Fe(II) — MnO, titration, HNOs is not used because :

o Watch Video Solution

26. Which species are oxidized and reduced in the reaction ?

FeCy0, + KMnO, — Fe*™ + COy + Mn*™*

o Watch Video Solution

27.H 20 2'is acting as a reducing agent as well as oxidising agent

o Watch Video Solution



https://dl.doubtnut.com/l/_lPywCkfR9LTs
https://dl.doubtnut.com/l/_essDnZvXrVcj
https://dl.doubtnut.com/l/_7BQii6wkzDEA
https://dl.doubtnut.com/l/_kKwwp99rYn2n

28. Calculate the mass of 1.5gram atoms of calcium?

° Watch Video Solution

29. Which reaction does represent auto redox or disproportionation ?

A.2H202 H20 + 02

B. (NH4)2Cr207 N2 +Cr203 + 4H20

° Watch Video Solution

30. Which of the following is redox reaction ?

A.Zn + 2AgCN 2 Ag+ Zn(CN)2


https://dl.doubtnut.com/l/_Vqpu69AIejii
https://dl.doubtnut.com/l/_u7X12dlaAJkO
https://dl.doubtnut.com/l/_pZ1CdHUrolS3

C.N205 +H20 2HNO3

° Watch Video Solution

31. Which of the following is redox reaction ?

° Watch Video Solution

32.For the redix reaction,
MnO,; + Cy0, + H' — Mn®" + CO, + H,0
the correct coefficients of the reactants for the balanced reaction are

respectively MnO, + C,O0: ,H ™,

A (a) 2,16, 5

B. (b) 16, 5, 2


https://dl.doubtnut.com/l/_pZ1CdHUrolS3
https://dl.doubtnut.com/l/_ipV8dyIuEeZa
https://dl.doubtnut.com/l/_QWLxF8uKM9Hc

C.(c) 5, 16, 2

D.(d) 2, 5, 16

o Watch Video Solution

33.If 0.1 mole H3 PO, is completely neutralised by 5.6g KOH then select

the true statement.

o Watch Video Solution

34. When potassium permanganate is titrated against ferrous ammonium
sulphate in acidic medium, the equivalent mass potassium permanganate

is,

o Watch Video Solution



https://dl.doubtnut.com/l/_QWLxF8uKM9Hc
https://dl.doubtnut.com/l/_YFrAAMB7VXIw
https://dl.doubtnut.com/l/_9UwGrTm3t0sH

35. Equivalent mass of F'eS, inthe half reaction, FeSy; — FesO3 + SO,

is :

° Watch Video Solution

36. The equaivalent mass of HCI in the given reaction is

K20T207 —+ 14HCI — 2KCI + 207’0]3 —+ 3CI2 —+ H2O

° Watch Video Solution

37. Equivalent mass of H3PQO, when it disproportionate into

PH3 and H3PO3 is:

° Watch Video Solution

38. In the following reaction,

AsyS3+ H™ + NO; 7 NO + H,0 + AsOi_ + SOZ_ the equivalent


https://dl.doubtnut.com/l/_RIyRiX7YbPAG
https://dl.doubtnut.com/l/_Ey78eJs77qQS
https://dl.doubtnut.com/l/_PkRmLPOYo2UL
https://dl.doubtnut.com/l/_T8M6Rga2rwdo

mass of AsyS3 is related to its molecular mass by :

° Watch Video Solution

39. Sulphur forms the chlorides S5Cl; and SCl,. The equivalent mass of

sulphur in SCI, is :

° Watch Video Solution

40. The equaivalent mass of an element is 4. Its chloride has a vapour

density 59.25. Then, the velency of the elements is :

° Watch Video Solution

41.6 x 102 mole K,Cr,0; reacts completely with 9 x 103 mole X" "

to given XO,; ™ Cr- (3 +).The value of n is :

° Watch Video Solution



https://dl.doubtnut.com/l/_T8M6Rga2rwdo
https://dl.doubtnut.com/l/_KXXTCTZy38cf
https://dl.doubtnut.com/l/_cOImA1QUmttv
https://dl.doubtnut.com/l/_47NsGP9hAnNg
https://dl.doubtnut.com/l/_8pRDeISodXN4

42. What mass of HyC504. 2H5,0 (mol.mass = 126) should be dissolved
in water to prepare 250mL of centinormal solution which act as a

reducing agent ?

° Watch Video Solution

43. The equivalent mass of the salt, KHC504. H,C504. 4H,O when it

act as reducing agent is :

° Watch Video Solution

44.The eequivalent mass of divalent metal is W. The molecular mass of

its chloride is :

° Watch Video Solution



https://dl.doubtnut.com/l/_8pRDeISodXN4
https://dl.doubtnut.com/l/_mbpN1nbIJHaU
https://dl.doubtnut.com/l/_UJClnKBdg7qW

45.When BrQ, iron reacts with Br~ in acid medium, Br, is liberated.

The equivalent mass of Brs in this reaction is :

° Watch Video Solution

46. If M4 gram of metal A displaces mp gram of another metal B from
its salt solution and if the equivalent mass are E4 and Ep respectively

then equivalent mass of A can be expressed as :

° Watch Video Solution

47. What will be the normality of solution obtained by mixining

0.45N and 0.60NNaOH in the ratio 2: 1 by volume ?

° Watch Video Solution

48. Calculate the gram atoms in 12.8g of oxygen ?

| e |


https://dl.doubtnut.com/l/_4y5IokXW0CKW
https://dl.doubtnut.com/l/_HPxtMfX8XyRX
https://dl.doubtnut.com/l/_BkqMy2o7xRZh
https://dl.doubtnut.com/l/_CoFLNDc7hzQT
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49.1.25¢g of a solid dibasic acid is completely neutralised by 25m L of 0.25

molar Ba (OH), solution. Molecular mass of the acid is :

° Watch Video Solution

N N
50.10mL of an N — HCI, 20mL of 7H25'04 and 30mL of ?HNO?,
are mixed together and volume made to one litre. The normality of H *

in the resulting solution is :

° Watch Video Solution

51. 0.45g of an acid of mol. Mass 90 was neutralised by 20mL of 0.5N

caustic potash (KOH). The basicity of acid is :

° Watch Video Solution



https://dl.doubtnut.com/l/_CoFLNDc7hzQT
https://dl.doubtnut.com/l/_8RO5gGJ4Meju
https://dl.doubtnut.com/l/_6s4PCueNFHjl
https://dl.doubtnut.com/l/_2qB2WBd3Rqji
https://dl.doubtnut.com/l/_4T0r8xGmm1Jp

52. A 3.4g sample of H,0, solution containing x % H,O by mass
requires xmL of a KMnQO, solution for complete oxidation under acidic

conditions. The normality of KMnQO, solution is :

o Watch Video Solution

53. A solution is prepared by adding 60g of methyl alcohol to 120g of

water. calculate the mole fraction of methanol and water?

o Watch Video Solution

54. KMnQO, reacts with oxalic acid according to the equation
2MnOy4 + 5C,05~ + 16H " — 2Mn** + 10CO, + 8H,0 Here, 20mL
of 0.1M KHMnQy, is equivalent to :

A. (a) 20mLOfO5MH202 04

B. (b) 50m Lo f0.1M H,C504

C. (C) 50mL0f05MH2 0204


https://dl.doubtnut.com/l/_4T0r8xGmm1Jp
https://dl.doubtnut.com/l/_cFjV3rOy0i8b
https://dl.doubtnut.com/l/_w0j8TbWSgGo2

D. (d) ZOmLofO 1MH20204

o Watch Video Solution

55. Ratio of moles of Fe (Il) oxidised by equal volumes of equimolar

KMnO,4 and K5C7ry0O7 solutions in aidic medium will be :

o Watch Video Solution

56. The mass of a mixture containing HCI and H,S50, is 0.1g On
treatment with an excess of an AgNOjs solution , reacted with this acid

mixture given 0.1435¢g of AgCI. Mass % of the H,SO,4 mixture is :

o Watch Video Solution

57. A solution of NayS5503 is standardized iodometrically against 0.167g

of KBrOs. This process requires 50mL of the NayS,03 solution. What


https://dl.doubtnut.com/l/_w0j8TbWSgGo2
https://dl.doubtnut.com/l/_SpM1z9M0oMzN
https://dl.doubtnut.com/l/_rtGH9pplcnpl
https://dl.doubtnut.com/l/_bWH9zeQpx343

is the normality of the Nay5,05. ?

o Watch Video Solution

58.0.80g is impure (NH,)SO,) was boiled with 100mL of 0.2NNaOH
solution till all the NH;3(g) evolved. The remaining solution was diluted
to 250mL. 25mL of this solution was neutralized using 5mL of
0.2NH,SO, solution. The percentage purity of the (NHy),S0, sample

is :

o Watch Video Solution

59.The N Hj evolved due to complete conversion of N from 1.12g sample
of protien was absorbed in 45mL of 0.ANHNQO;3. The excess acid

required 20mL of 0.1NaOH. The % N in the sample is :

o Watch Video Solution



https://dl.doubtnut.com/l/_bWH9zeQpx343
https://dl.doubtnut.com/l/_vQpkfh7Y2aQv
https://dl.doubtnut.com/l/_EO9Mxn1tS3c8

60. Find out % of oxalate ion in a given sample of an alkali metal oxalate
salt, 0.30g of it is dissolved in 100mL water and its required 90mL of

centimolar KMnQ, solution in acidic medium :

o Watch Video Solution

61. 320mg of sample of magnesium having a coating of its oxide required
20mL of 0.1M hydrochloric acid for the complete neutralisation of the

latter. The composition of the sample is :

o Watch Video Solution

62. The concentration of bivalent lead ions in sample of polluted water
that also contains nitrate ions is determined by adding solid sodium
sulphate  (m =142) to  exacty 500mL  water  500mL
water. Calcatethemolarityofkeadion if 0355g" of solium sulphate

was needed for complete precipitation of lead ions as sulphate.

| o WMl \ i dan Ol iklmn


https://dl.doubtnut.com/l/_Pcb1zige5Uxu
https://dl.doubtnut.com/l/_rEMWS4DXPRlE
https://dl.doubtnut.com/l/_zj9WDC0xfsdo
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63. What volume of HNOj; (sq.gravity 1.05gmL ! containing 12.6(%)
of HNQO;3) that reduce into NO is required to oxidise iron

gFeSO,. TH50 in acid medium is :

° Watch Video Solution

64. 1 mole of equimolar mixture of ferric oxalate and ferrous oxalate

requires x mole of KMnQ, in acidic medium for complete oxidation. x is :

° Watch Video Solution

65. When 2.5g of a sample of mohr's salt reacts completely with 50m L of

N
1—0KMnO4 solution. The % purity of the sample of Mohr's salt is :

° Watch Video Solution



https://dl.doubtnut.com/l/_zj9WDC0xfsdo
https://dl.doubtnut.com/l/_2J5RALHU7xnf
https://dl.doubtnut.com/l/_2X8r7KsDNMWZ
https://dl.doubtnut.com/l/_mmzVrv1PPCjM

66.4 mole of a mixture of Mohr's salt and Fe;(S0,), requires 500m.L of
1M K,Cr50 for complete oxidation in acidic medium. The mole % of the

Mohr's salt in the mixture is :

° Watch Video Solution

67. The equivalent mass of a metal is twice to that of oxygen. How many
times is the equivalent mass of it's oxide than the equivalent mass of the

metal ?

° Watch Video Solution

68. A metal oxide has the formula X,0Os. It can be reduced by hydrogen
to give free metal and water. 0.1596g of metal oxide requires 6mg of
hydrogen for complete reduction. The atomic mass of the metal (in amu)

is :

° Watch Video Solution



https://dl.doubtnut.com/l/_fsznvRgK7TMW
https://dl.doubtnut.com/l/_4veM584CPnd2
https://dl.doubtnut.com/l/_bXO31qH2Gsot

69. Calculate the mass of anhydrous oxalic acid, which can be oxidised to
CO,(g) by 100mL of an MnO, solution, 10mL of which is capable of

oxiding 50mL of 1INI~ to L.

° Watch Video Solution

70. A mixture of NaHC50, and KHC,0,4. Hy,Cy0, required equal
volumes 0.2NKMnQO, and 0.12NNaOH separately. What is the molar

ratio of NaHC50, and KHC50,. HyC50, in the mixture ?

° Watch Video Solution

71. Calculate the volume of 0.015M HCl solution required to prepare

250ml of a 5.25 (10)-3 M HCl solution ?

° Watch Video Solution



https://dl.doubtnut.com/l/_MfKFAt9DOnWH
https://dl.doubtnut.com/l/_BJt422QQK2xk
https://dl.doubtnut.com/l/_zOBFWfjPTOxZ

72.2 mole, equimolar mixture of NayCy0, and H,C50, required V; L of
0.IMKHMO, in acidic medium for complete oxidation. The same
amount of the mixture required V5L of 0.2M NaOH for neutralization.

Theratioof V], — Vs is:

o Watch Video Solution

73. A mixture containing 0.05 mole of K5Cry0; and 0.02 mole of
KMnO, was treated with excess of KI in acidic madium. The librated
iodine required 1.0L of NaS;0j3 solution for titration. Concentration of

Nay 5503 solution was :

o Watch Video Solution

74. 25mL of 2NHCI, 50mL of ANHNQO3 and zmL of 2MH,S0, are
mixed together and the total volume is made up to 1L after dilution.
50mL of this acid mixture completely reacted with 25mL of a 1Nay,CO3

solution. The value of z is :


https://dl.doubtnut.com/l/_XBiPCUywkDSn
https://dl.doubtnut.com/l/_gcMCiIJv6F5r
https://dl.doubtnut.com/l/_gzC6zFBBtPHl

° Watch Video Solution

75. 1g mixture of equal number of mole of LiyCos and other metal
carbonate (M5CO;3) required 21.6mL of 0.5NHCI for complete
neutralisation reaction. What is the approximate atomic mass of the

other metal ?

° Watch Video Solution

76. 250ml of a 1.5M solution of sulphuric acid is diluted by adding 5L of

water. what is the molarity of the diluted solution?

° Watch Video Solution

77.0.1g of a solution containing Nay;CO3 and NaHCOj3 requires 10mL
of 0.01NHCT for neutralization using phenolphthalein as an indicator.

mass % of Na;C'Oj5 in solution is :

. l


https://dl.doubtnut.com/l/_gzC6zFBBtPHl
https://dl.doubtnut.com/l/_X4EwEyiFJCep
https://dl.doubtnut.com/l/_iYN9jWxe2qjM
https://dl.doubtnut.com/l/_q7sfKhLpRa3m
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78. A jug contains 2L of milk. calculate the milk in m3.

° Watch Video Solution

79. 10L of hard water required 5.6g of lime for removing haardness.

Hence temporary hardness in ppm of CaCOs is :

° Watch Video Solution

80. 1L of pond water contains 20mg of Ca?" and 12mg of mg*" ions.
What is the volume of a 2NNay,COj5 solution required to soften 5000L

of pond water ?

° Watch Video Solution



https://dl.doubtnut.com/l/_q7sfKhLpRa3m
https://dl.doubtnut.com/l/_hPUnP3u66nsl
https://dl.doubtnut.com/l/_ubThnSWyRPcN
https://dl.doubtnut.com/l/_ocoFK1Q3FJKc

8. One litre of a sample of hard water contain
4.44mgCaCl, and 1.9mgofMgCl,. What is the total hardness in terms

of ppm of CaCO3?

° Watch Video Solution

82. If hardness of water sample is 200partspermillion, Calculate the

mass ratio of CaCO3 to water is:

° Watch Video Solution

83. A mixture of NH;NO; and (NH,),HPO, contain 30.40 % mass
per centof nitrogen. What is the mass ratio of the two components in the

mixture ?

° Watch Video Solution



https://dl.doubtnut.com/l/_33ZwGHrTow4s
https://dl.doubtnut.com/l/_5cO86udiHzLw
https://dl.doubtnut.com/l/_5FRAcih9yMGi

84. What volume of 75 % acohol by weight (d = O.SO%m?’) must be

used to prepare 150cm? of 30 % alcohol by mass (d = 0.90%m2> ?

o Watch Video Solution

85. 6.2g of a sample containing NaysCO3, NaHCO3 and non-volatile
inert impurity on gentle heating loses 5% of its mass due to reaction
2NaHCO3 — NayCO3 + Hy0 4+ CO, . Residue is dissolved in water
and formed 100mL solution and its 10mL portion requires 7.5mL of
0.2M aqueous solution of BaCl, for complete precipitation of

carbonates. Determine mass (in gram) of NayCOjs in the original sample.

o Watch Video Solution

86. Nitric acid can be produced from NHj in three steps process below
(I)4NHs(g) + 504(g) — 4NO(g) + 6H,0(9)
(II)2NO(g) + Oy — 2NO4(9g)

(II1)3NOs(g) + H2O(l) — 2HNO3(aq) + NO(g) percent vyield of


https://dl.doubtnut.com/l/_QDEDdgF6PcfX
https://dl.doubtnut.com/l/_8nAhCf70EZ3I
https://dl.doubtnut.com/l/_1XuJSPGKT8Od

1°t, 2" and 3™ step are respectively 50 % , 60 % and 80 % respectively
then what volume of NH;(g) at 1 atm and 0°C required to produced

15759 of HNOs.

° Watch Video Solution

87. How much copper can be obtained from 100g of copper sulphate ?

° Watch Video Solution

88. MnO, on ignition converts into MnzO,4. A sample of pyrolusite
having 75% MnQOs,, 20% inert impurities and rest water is ignited in air

to constant mass. What is the percentage of Mn in the ignited sample ?

° Watch Video Solution

89. What is the ratio by mass of Nand Hin NH;

° Watch Video Solution



https://dl.doubtnut.com/l/_1XuJSPGKT8Od
https://dl.doubtnut.com/l/_Z56ULEuEKDjH
https://dl.doubtnut.com/l/_7mvdiKQViMsO
https://dl.doubtnut.com/l/_UYaoua1BEf8x

90. Calculate the wavelength of an electron moving with a velocity of

2.05x10 7 ms -1

° Watch Video Solution

91. 11.6¢g of an organic compound having formula C, Hs, , 5 is burnt in
excess of Os(g) initially taken in a 22.41 litre steel vessel. Before
reactioOn the gaseous mixture was at 273K with pressure reading 2 atm.
Aftercomplete combustion and loss of considerable amount of heat, the
mixture of product and excess of O, had a temperature of 546K and 4.6

atm pressure. The formula of organic compound is :

° Watch Video Solution

92. Calculate the no of moles of iodine in a sample containing 1 (10) 22

molecules.
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https://dl.doubtnut.com/l/_UYaoua1BEf8x
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93. SO,C1, (sulphury chloride) reacts with water to given a mixture of
H,S04 and HCI. What volume of 0.2MBa(OH), in needed to

completely neutralize 256m L of 0.2M SO,C'I, solution :

° Watch Video Solution

94. Calculate the mass percentage composition of copper pyrite.

° Watch Video Solution

95. 20 mL of 0.2 M NaOH(aq) solution is mixed with 35 mL of this 0.1 ML
NaOH (aq) solution and the resultant solution is diluted to 100 mL. 40 mL
of this diluted solution reacted with 10% impure sample of oxalic acid

(HyC50,) The mass of impure is:

° Watch Video Solution



https://dl.doubtnut.com/l/_1Spvje5pmT6Y
https://dl.doubtnut.com/l/_W7gU4SSnrI05
https://dl.doubtnut.com/l/_I4doQufgWOUD
https://dl.doubtnut.com/l/_GXOiIvYCoO2u
https://dl.doubtnut.com/l/_eZhehrk1sdQS

96. Two elements X (at.mass 16) and Y (at.mass 14) combine to form
compounds A, B and C. The ratio be different masses of Y which
combine with a fixed mass of X in A, B and C'is 1:3:5. If 32 parts by
mass of X combines with 84 parts by mass of Y in B then in C, 16 parts by

mass of X will combine with :

A. (a) 14 parts by mass of Y

B. (b) 42 parts by mass of Y

C.(a) 70 parts by mass of Y

D. (d) 84 parts by mass of Y

° Watch Video Solution

97. The conversion of oxygen to ozone occurs to the extent of 15 % only.
Find mass of ozone that can be prepared from 67.2L of oxygen at 1 atm

and 273K will be :

| ° Watch Video Solution


https://dl.doubtnut.com/l/_eZhehrk1sdQS
https://dl.doubtnut.com/l/_tIwxXbLTUGGb

98. RH, (ion exchange resin) can replace Ca®" ions in hard water as
RH, + Ca®>"™ — RCa +2H ™. If 1 L of hard water after passing

through RH, has pH = 3 then hardness in parts per million of Ca?" is :

o Watch Video Solution

99. 20mL of 0.1M solution of compound NayCOs.2H50 is titrated
against 0.056M HCI. xmL of HCI is used when phenolphthalein is used
as an indicator and y mL of HCl is used when methly orange is the

indicator in two separate titrations. Hence (y — z) is :

o Watch Video Solution

100. A sample containing H AsO, (mol. mass = 180) and weighing 3.78¢g

is dissolved and diluted to 250mL in a volumetric flask. A50mL sample


https://dl.doubtnut.com/l/_tIwxXbLTUGGb
https://dl.doubtnut.com/l/_egYt5wAMBIYF
https://dl.doubtnut.com/l/_JRNwvVw9i1t9
https://dl.doubtnut.com/l/_Cj6WntN4qsGG

(aliquat) is withdrawn with a pipet and titrated with 35mL of 0.05M

solution of I,. Calculate the percentage HAsO, in the sample :

o Watch Video Solution

101. A mixture of FeO and Fey;Oj3 is completely reacted with 100mL of
0.25M acidified KMnQO, solution. The resulting solution was then
treated with Zn dust which converted Fe®* ™ of the solution to fe?*. The
Fe*= required 100mL of 0.10M K,Cr,0~ solution. Find out the weight

% Fey04 in the mixture.

o Watch Video Solution

102. Calculate number of gram atoms in 669.6 g of iron?

o Watch Video Solution



https://dl.doubtnut.com/l/_Cj6WntN4qsGG
https://dl.doubtnut.com/l/_m5GNOzvyqe8u
https://dl.doubtnut.com/l/_ApyxUvgbs8k6

103. The relative abundance of various isotopes of silicon is as:Si-
28=92.23%,5i-29=4.67% and Si-30=310%. Calculate the average atomic

mass of silicon.

° Watch Video Solution

104. 1 mole of equimolar mixture of ferric oxalate and ferrous oxalate

requires x mole of KMnQ, in acidic medium for complete oxidation. x is :

° Watch Video Solution

105. when an aqueous solution of HySO, is electrolysed the product at

anodes is :

° Watch Video Solution



https://dl.doubtnut.com/l/_kDtWG1NumCZZ
https://dl.doubtnut.com/l/_HkuKR4RjqKYB
https://dl.doubtnut.com/l/_p3yQklW1TG5S

106. A mixture containing 0.05 mole of K,Cr,0; and 0.02 mole of
KMnQO, was treated with excess of KI in acidic madium. The librated
iodine required 1.0L of NaS503 solution for titration. Concentration of

Nay 5503 solution was :

o Watch Video Solution

107. A mixture containing 0.05 mole of K,Cr,0; and 0.02 mole of
KMnO, was treated with excess of KI in acidic madium. The librated
iodine required 1.0L of NaS;0j3 solution for titration. Concentration of

Nay 5503 solution was :

o Watch Video Solution

108. A mixture of HyS0O, and H,(C5,0, (oxalic acid ) and some inert
impurity weighing 3.185 g was dessolved in water and the solution made
up to 1litre. 10 mL of this solution required 3 mL of 01 N NaOH for

complete neutralization. In another experiment 100 mL of the same


https://dl.doubtnut.com/l/_YQL4h8rlmcbx
https://dl.doubtnut.com/l/_S0EhhvSle5mT
https://dl.doubtnut.com/l/_KSFO08HlA2KL

solution in hot condition required 4 mL of 0.02 M KMnOy solution for

complete reaction. The mass % of Hy SO, in the mixture was:

° Watch Video Solution



https://dl.doubtnut.com/l/_KSFO08HlA2KL

